STAW

AHEHEO-/IN—S

B &
MEa—FK . K93275
i) =X JRB3020
BamERE X JRB3020-04

BB TEN DRI I SR m AR N e I EHLEEY,
RFAERmO—ERlclE. Fe& -t/ MESTOADERmH HVET

HASHIHIA Y —



x

&GO T3EXIZDNT

HIESmOYIEERIZDONT

0

B THEXOBIE, TRUEHE & THERE S 7E S0,

—
pais
!

. b

O "/ i 4
@ EhinftreT Al ()
@ Ehdna PR
@ EBinE
® E %

X AMARHEREXIBRARERMRE LT, AMEICHA
DAR—LTL—FMIRRLTWVET,

2. g [— ) [ Jx. BFozraxL<T
BYET,

[— ] vl MAAENTO BN
B 2 |2 0 e 2

e T oA BT E D L CHA
UL L7y

3. RHESN[ ] o T0nd bk, @
W LE, WIS EL Y ETOT, 2
DOFBE ZFHRE S CIHX £ T,

4. FHASEO—ERITIZ. &ty MRFED
FDOEEN B0 £9°, TIHEXDOBERIT IR 72
IV, EERAE L, ST R WER LT
v MRIEDOHDRGE SH TN x ET,

% MBI K Y TR R - A EE
FHZLBBY £

FHEE ST S AR ER M 2 B RV RD < 72 S0,
HBERLL Z BT 0 £9 & BRORTER
HRRICEET LA 0RH D £,

Z OB ORE RS O AR GO 1%,
BEEFTHEI 0 % 94T, e L, GAERNT
HoTh. FEEE IOV TITEZR & 4 ZH
SHETCWEELGAELHY £T,

S ES S OB TR I ERE D BEGAER C
BT LETH, HEFRRZRE TH-TH, #Hih
et O ZHERER B o T2 55 IS KOk I o
WTCZHSE QW& £,

{REEIZDNT

B O BGEITHPED R & 700 3O T, 1Td
2NTL T8,

diE LG e CE @ ECR RS Lz IE LW
EHERE R D5EIL. RIEOXMEINT/2 Y £
TOTIHEELTEIN,




JRB3020 KEBHEO—ILR—F
IL—L  ROL—IN

- /ﬁJL -

[13777-3 | CENRT ’Efj{:ﬂ /P

W65-0087-1010 20~ e > 43
A& BB dh B/ 5 1 O I <IN e i et

1 BZ12030 Ak 8.8 M12X30 6

2 BZ12100 AV 8.8 M12X100 2

3 WSA12 NXPFTHR 3y M1 2 8

4 042783600M Uvrx ;12 8

5 0830370004 7'L—Dbh; R 1

6 0830380004 7'L—1b ;L 1

7 | BJ10025 7%y >y 7B 10. 9 M10X25 6

8 NSZ10 afiZFvh 8 232 M10O 6

9 WSA10 NEXPFHTHR 327 M10 6

10 | 044098500M Yy ;10 6

11 | 1362930004 Jay 7N —CP ; Re 1

12 | 000739000M J>FEr; 9 2

13 | 1361141004 VI N 1

14 | BSPZ08016 aAFHESWYFHR/LE 7 M8X16 3

15 | 1365200004 IT7—A7—CP 1

16 | BSZ10025 aFEARLVE 7T M10X25 2

17 | NSZ10 afjZFyh 8 232 M10O 2

18 | WSA10 NEXPHHX 3947 M1 0 2

19 | 1564930004 1T7—7—ALCP 1

20 | BSZ08035 afFEARNLVE 7T M8X35 2

21 | NNFo8 AR (=0 B N Y 2

22 | 1365300000 17— 1

23 | 0798734004 777 hCP 1

24 | 0798770004 A RTL— | 2

25 | 0798781000 A =X 2




JRB3020 KEBHEO—ILR—F
IL—L  ROL—IN

# /ﬁJL :
[13777-3 | CENRT ’Efj{:ﬂ /P
W65-0087-1010 20~ e > 43
RHES| B T I < i
26 | BSZ08025 aHEZRLET M8X25 9
27 | WSAOS NRxPHx 347 MS 9
28 | WRAOS 7R MS 7
29 | 044097200M Uiy 8 2
30 | 1263060004 27 L—s3—ZC P 1
31 | BSZ08025 aBFHZRNLET M8X25 7
32 | WSAO8 NEPH % 347 MS 7
33 | WRAOS YR MS 7
34 | 126310000M _—ACP; L 1
35 | 126312000M _—ZCP ;R 1
36 | 129249000M Uyl vy ;16. 5X3. 2 2
37 | PS040025 ATV 4X25 2
38 | 089217000M 2FY 7 L 1
39 | 089218000M 2FY T R 1
40 | WRAO6 IR M6 4
41 | BR10075 Hrx<B4. 6 A1l M10X75 2
42 | BR10070 Hrx</B4. 6 A1l M10X70 2
43 | NSZ10 aBAZFyh 8 22 MI1O0 4
44 | WSAL0 NREPHx 347 M1 0 4
45 | 044098500M Ty ;10 4
46 | 044097200M Ty 8 3
47 | 1360783004 7y 7L —ALCP 1
48 | 1042463004 F—hRCP 1
49 | WRAOS IR MS 2




JRB3020 KEBEA—ILA—F
FSURR—FA—5;L1

065-0037-1022

AHER| W E B T I < i iz i
1 | 1268781004 on—ZCP;40L 1
2 | 0573680000 DA -
3 | JCS208LLU X727 CS208LLU 1
4 | 0770673004 R7YL 7L —ACP ; 80 1
5 | 1260981004 R7YZ1L—2Z ;80 1
6 | BSZ10020 aBEZRNLE 7 M10X20 4
7 | BSZ10035 aHEZRLE 7 M10X35 4
8 | BSZ10070 aBAZRLE 7 M10O0X70 2
9 | WSA10 NRxPH% 347 M10 10
10 | 0826641000 HTG—:41. 6X48. 6X58 1
11 | 0797382004 27w hCP; 22T 1
12 | 0885830000 525, 5X1. 0 -
13 | NC2L24200 ¥x v ALty Rk 2va2bZ M24X2. 00| 1
14 | PC050045 JUEy 5X45 1
15 | WRA24 eI R M24 1
16 | 0770703004 R7YLTL—ACP ; 72 1
17 | 1260971004 RV T L—R T2 1
18 | JAEL207 o=y hIURTYLY AEL207 1




JRB3020 KEBEA—IILA—F
rS52RR—bA—5;S1

15
12
065-0037-1022
AHER| W E B T I < i iz i
1 | 1268750004 o—ZCP ;408 8
2 | 0885820004 HF—:141. 6X48. 6X8 8
3 | JCS208LLU X727 CS208LLU 8
4 | 0770673004 R7YL 7L —ACP ; 80 8
5 | 1260981004 R7YZ1L—2Z ;80 8
6 | BSZ10020 aBEZRNLE 7 M10X20 32
7 | BSZ10035 aHEZRLE 7 M10X35 48
8 | iSA10 NEYPHHE 347 M10 80
9 | 0573680000 N -
10 | 0770621004 ZFwalr hCP; 22T 8
11 | 0885830000 525, 5X1. 0 -
12 | NC2L24200 ¥xvALFy R 2va2bZ M24X2. 00| 8
13 | PC050045 JUEL 5X45 8
14 | JAEL207 o=y hIURTYLZ AEL207 8
15 | WRA24 eI R M24 8
16 | 0770703004 R7YLTL—ACP ; 72 8
17 | 1260971004 RV T L—R T2 8




JRB3020 KEBHEO—ILR—F

Iorka—5
13
14
065-0037-1023
AHER| W E B T I < i iz i

1 | 1268811004 n—ZCP;45SB 1
2 | 0797113000 HT—:346X60. 5X29 1
3| 126100000M =Ty % CP; 120 1
4 | 0770890000 T2 10, 2X15. 2X14 3
5 | JCS309LLU _7Y»Z:CS309LLU 1
6 | 0770951000 7Y T L— 1
7 | BSZ10060 aBHEZRLE 7 M10X60 3
8 | iSA10 NEYPHHX 347 M1 0 3
9 | 0770922000 HT—:46X60. 5X17 1
10 | 0770931000 A 1X55%X45. 5 -
11 | 0885800000 VA :37X60X1. 0 4
12 | 0770752004 A7y hCP ;22T 1
13 | NC2L36300 ¥x v ALty Rk 23227 M36X3. 00| 1
14 | PC063071 UKy 6. 3X71 1
15 | WRA36 eI TR M36 1
16 | 0770703004 R7YLTL—ACP ; 72 1
17 | 1260971004 R7PY LT VL—R 72 1
18 | JAEL207 o=y hIURTYLY AEL207 1
19 | BSZ10020 aBERLE 7 M10X20 2
20 | BSZ10035 aHHZRLE 7 M10X35 3
21 | WSA10 NRpPHx 347 M1 0 5




JRB3020 KEBEA—IILA—F
rSURAR—kA—5;82

065-0037-1023

AHER| W E B T I < i iz fifi =
1 | 1268750004 o—ZCP ;408 1
2 | 0885820000 HF—:141. 6X48. 6X8 1
3 | JCS208LLU X727 CS208LLU 1
4 | 0770673004 R7YL 7L —ACP ; 80 1
5 | 1260981004 R7YZ1L—2Z ;80 1
6 | BSZ10020 aBEZRNLE 7 M10X20 4
7 | BSZ10035 aHEZRLE 7 M10X35 4
8 | BSZ10070 aBAZRLE 7 M10O0X70 2
9 | WSA10 NRxPH% 347 M10 10
10 | 0573680000 2N -
11 | 0770621004 27w hCP; 22T 1
12 | 0885830000 525, 5X1. 0 -
13 | NC2L24200 ¥x v ALty Rk 2va2bZ M24X2. 00| 1
14 | PC050045 JUEy 5X45 1
15 | JAEL207 o=y hIURTYLZ AEL207 1
16 | WRA24 eI R M24 1
17 | 0770703004 R7YLTL—ACP ; 72 1
18 | 1260971004 RV T L—R T2 1




JRB3020 AEBERA—/ILA—F
R5478—5:M

065-0037-1020
AHER| W E B T I < i iz fifi =
1 | 1268721004 on—ZCP; 50W 1
2 | 126179000M —NUvi%¥CP; 132 2
3 | JCS310LLU o=y haUR_7TYLZ CS310LLU 2
4 | 0770890000 T2 10, 2X15. 2X14 6
5 | 1190200004 N7 YL —Z: 110 2
6 | BSZ10070 aBEZRNLE 7 M10O0X70 3
7 | 090624100M #5—:50. 5X15. 5 2
8 | 078712100M A 50X1. 2 6
9 | BSZ10060 aBHEZRNLE 7 M10X60 3
10 | WSA10 SNRPH X 347 M1 0 3
11 | 0770931000 T Ah:1X55%X45. 5 -
12 | 0885800000 VA 37X60X1. 0 -
13 | 0781004004 27aly hCP; 22T 1
14 | NC2L36300 ¥x v ALty R 23227 M36X3. 00| 2
15 | PC063071 UKy 6. 3X71 2
16 | WRA36 eI TR M36 2
17 | 0932420004 A7alry b 22T—3N 1
18 | 0558531000 DA -
19 | 0339011000 DA -
20 | 0499460000 Ty 2




JRB3020 AHEBERA—/ILA—F
K54280—7;UP

AHER| W E B T I < i iz fifi =
1 | 1268841004 n—ZCP; 45W 1
2 | 126179000M —NUvi%¥CP; 132 2
3 | 0770792004 X7 T L— R 2
4 | JCS309LLU _X7Y27 . CS309LLU 2
5 | 0770890000 Twia:10. 2X15. 2X14 6
6 | BH10045 ¥yv7B 10. 9 M10xX45 6
7 | 1180331004 tyY R 1
8 | 1180341004 by L 1
9 | 1180320000 T2 110X115%X13 2
10 | BZ14080 AR 8.8 M14X80 6
11 | NZ14 Fvhk 8 2v=2 Ml14 6
12 | WSA14 NEYPHx 347 M1 4 6
13 | 077091200M 7 L— K 2
14 | BJ06012 HIF%FyvFB 10. 9 M6X12 12
15 | 0797113000 HTF—: 46X60. 5X209 2
16 | 0770922000 HT—:46X60. 5X17 2
17 | WRA36 eI TR M36 2
18 | 0770931000 DA -
19 | 0885800000 A 37X1. 0 -
20 | 0770752004 27Fuly hCP; 22T 2
21 | NC2L36300 ¥x v ALty Rk 2v2b27 M36X3. 00| 2
22 | PC063071 UKy 6. 3X71 2




JRB3020 KEBHEO—ILR—F
FLO—S

13799
065-0037-1024

AHER| W E B T I < i iz fifi =
1 | 1002573004 FLE2—5CP;40L 1
2 | 0573680004 DA -
3 | JCS208LLU o=y hIURTYLZ CS208LLU 1
4 | 0770673004 R7YL 7L —ACP ; 80 1
5 | 077066300M R7YZ1L—2Z ;80 1
6 | BSZ10020 aBEZRNLE 7 M10X20 4
7 | BSZ10035 aHEZRLE 7 M10X35 4
8 | BSZ10070 aBAZRLE 7 M10O0X70 2
9 | WSA10 NRxPH% 347 M10 10
10 | 0826641004 HTG—:41. 6X48. 6X58 1
11 | 0573680000 DA -
12 | 0770621004 A7a4 >y hCP; 22T 1
13 | 0885830000 TAh:25. 5X45%X1. 0 -
14 | NC2L24200 ¥y v ALty Rk 2va2bZ M24X2. 00| 1
15 | PC050045 JUEy 5X45 1
16 | WRA24 eI R M24 1
17 | 0770703004 R7YLTL—ACP ; 72 1
18 | 077069300M RV T L—R T2 1
19 | JAEL207 o=y hIURTYLZ AEL207 1




JRB3020 KEBEA—/ILA—F
rS2RR—bA—5;L3

065-0037-1024

AHER| W E B T I < i iz fifi =
1 | 1268781004 on—ZCP;40L 1
2 | 0885820000 HF—:141. 6X48. 6X8 1
3 | JCS208LLU X727 CS208LLU 1
4 | 0770673004 R7YL 7L —ACP ; 80 1
5 | 1260981004 R7YZ1L—2Z ;80 1
6 | BSZ10020 aBEZRNLE 7 M10X20 4
7 | BSZ10035 aHEZRLE 7 M10X35 4
8 | BSZ10070 aBAZRLE 7 M10O0X70 2
9 | WSALO NREPFHFX 327 M10 10
10 | 0771061000 HTG—:41. 6X48. 6X52 1
11 | 0573680000 DA -
12 | 0770621004 A7a4 >y hCP; 22T 1
13 | 0885830000 525, 5X1. 0 -
14 | NC2L24200 ¥y v ALty Rk 2va2bZ M24X2. 00| 1
15 | PC050045 JUEy 5X45 1
16 | WRA24 eI R M24 1
17 | 0770703004 R7YLTL—ACP ; 72 1
18 | 1260971004 RV T L—R T2 1
19 | JAEL207 o=y hIURTYLZ AEL207 1




JRB3020 AEBERA—/ILA—F
K542 8—5;UN1

'

065-0037-1021

AES] B W 5 R <R (R fii =
1 1364580004 n—ZCP; 50WB 1
2 | 126179000M =Ty %CP; 132 2
3 | JCS310LLU o=y ha3UXTYL” CS310LLU 2
4 10770890000 T2 10, 2X15. 2X14 6
5 | 1190200004 R7YrZ1L—2;110 2
6 | BSZ10070 aBEZRNLE 7 M10O0X70 3
7 | 090624100M #I—:50. 5X15. 5 2
8 | 078712100M L 50X1. 2 -
9 | BSZ10060 aBHEZRNLE 7 M10X60 3
10 | WSALO SNRPH X 347 M1 0 3
11 | 0770931000 L 1X55%X45. 5 -
12 | 0885800000 TA:3T7TX60X1. 0 -
13 | 1261800004 ATNATar,ry hCP ; 22TX27T 1
14 | NC2L36300 ¥yvALFy N 232k M36X3. 00| 2
15 | PC063071 JUEY 6. 3XT71 2
16 | WRA36 eI TR M36 2
17 | 0770752004 A7l hCP; 22T 1
18 | 0558531000 DN -
19 | 0339011000 DN -
20 | 0499460000 Ty 2




JRB3020 AHEBERA—/ILA—F
K5470—5;UN2

13874-1

065-0037-1021

AHER| W E B T I < i iz fifi =
1 | 1385490004 on—ZCP; 50B 1
2 | 126179000M —NUvi%¥CP; 132 1
3 | JCS310LLU o=y haUR_7TYLZ CS310LLU 1
4 | 0770890000 T2 10, 2X15. 2X14 3
5 | 1190200004 N7 YL —Z: 110 1
6 | BSZ10070 aBEZRNLE 7 M10O0X70 3
7 | 090624100M #5—:50. 5X15. 5 1
8 | 078712100M A 50X1. 2 -
9 | 0770931000 Thi1X55%X45. 5 -
10 | 0885800000 VA :37X60X1. 0 -
11 | 0781004004 27w hCP; 22T 1
12 | NC2L36300 ¥x v ALty Rk 23227 M36X3. 00| 1
13 | PC063071 ULy 6. 3X71 1
14 | WRA36 eI TR M36 1
15 | JAEL207 o=y hIURTYLZ AEL207 1
16 | 0770703004 R7YLTL—ACP ; 72 1
17 | 1260971004 RV T L—R T2 1
18 | BSZ10020 aBERLE 7 M10X20 2
19 | BSZ10035 aHFAZRLE 7 M10X35 3
20 | WSAL0 NREPHx 347 M1 0 5
21 | 0499460000 Ty 2




JRB3020 KEBHEO—ILR—F
VAL MZ Lyl &

352

B3—S

13778-3

065-0037-10

11

RER] B R <R (R fii
1 1361623004 HorBZT7L—ALCP 1
2 | 1361751004 7L —hCP 1
4 | BSZ12035 aFERLE 7T M12X35 4
6 | WSA12 NRPH X 347 M1 2 6
7 | 8024640004 T 1
8 | BSZ10025 aFHZRLE 7T M10X25 1
9 | WSALO NREPFHFX 327 M10 1
10 = | 802472000M 770 v b 1
11 | BSZ10035 aHHZRLE 7 M10X35 2
12 | BSZ08030 aHEZRLE 7 M8X30 2
13 | WSA10 NREPFHx 327 M10 2
14 | 075290100M Tv¥% ;10 2
15 | 8024650004 ZL— K 1
16 | BSZ10030 aBAZRLE 7 M10X30 7
17 | WSA10 NREPHx 347 M1 0 7
18 | 075290100M Tyix ;10 7
19 | 136179000M Fva T —ALCP 1
20 | KBB-2530A H—R RIART Y7 A25X28X30 1
21 | 044214301M Tyl 25. 5X1. 0 1
22 | DC025 CHENAD 27 25 1
23 | 1307270004 Fryvary—U; $80X47 1
24 | DHC040 CHEFMAY TF 40 1
25 | J6203LLU R—A_T7TV27 6203LLU 2




JRB3020 KEBHEO—ILR—F

hoL3r—=X:1

29

13778-3

065-0037-1011

i I e W& 4 FF fiE fisi
26 | 044098500M Ty ;10 1
27 | WSAL0 NRxPHxX 327 M1 O 1
28 | NSZ10 aBAZFyh 8 2¥%=2 MI10 1
29 | 146116000M oy R 1
30 | WRA10 EI7HHTR M10 1
31 | PC032032 JYEY 3. 2X32 1
32 | 025266000M XA PR 1
33 | 146117000M ATV THxx v F 2
34 | 123378200M AFVYT 4. 5X32%X138 1
35 [ NSZ10 aBAZFv bk 8 22 M1O 2
36 | 1361943004 LR—F7—ACP ; 3 1
37 | KBB-2530A H—R RIARTY 7 A25X28X30 1
38 | 044214301M Tyl v 25. 5X1. 0 1
39 | DCO25 CHHNAD 27 25 1
40 | 085238100M HT— 1
41 | 073444000M DN -
42 | J6006LLU R—A_TU27 6006LLU 2
43 | 0852390004 Friay ARFal vk 1
44 | DHCO55 CHHZ AU TF 55 1
45 | DCO30 CHHE AT 27 30 1
46 | 077174300M N—CP; 1 1
47 | 073444000M DN -
48 | DCO30 CHHE AU 27 30 1
49 | 025266000M Fa AP HXR 1
50 | 077178000M ATV Ty vF 2




JRB3020 KEBHEO—ILR—F

hoL3r—=X:1
51 | 082809000M 2AFV T A 1
52 | NZ12 Fvyhr 8 2v=2 MI12 2
53 | 136200100M ~)L R HA RKCP 1
54 | BSZ08020 aBFERLE 7T M8X20 2
55 | WSAO8 NRxPHx 347 MS 2
56 | 080414100M Jyiv ;8 2
57 | 136203000M )L hAHECP 1
58 | BSZ08020 aBERLE 7T M8X20 1
59 | WSA08 NRxPHx 347 MS 1
60 | 080414100M Jviv ;8 1
61 | 8019221004 AL N A= 1
62 | BSZ08016 aBFHZRLE 7 M8X16 3
63 | WSAOS NRxPHx 347 MS 3
64 | 080414100M Jyiv ;8 2
65 | 136403000M ZL— K 1
66 | BSZ10025 aBHZRLE 7 M10X25 4
67 | WSALO NP Hx 347 M1 0 4
68 | NSZ10 aBAZFyh 8 22 MI10 2
69 | 136404000M T 1
70 | BSZ08016 aBFERLE 7 MS8X16 2
71 | WSAO8 NRxPHx 347 MS 2
72 | 136588000M vy CP 1
73 | BSZ08020 aBERNLE T M8X20 1
74 | WSAO8 NREPHx 347 MS 1
75 | 080414100M Jviv 8 1
76 | BZ12070 ARLBh 8. 8 M12X70 2
77 | NZ12 Fvyh 8 232 M1 2 2
78 | 042783600M Ty¥x ;12 2
79 | 1385780000 N -
80 | 8019151004 7% hCP 1
81 | BSZ10035 aBHARLE 7 M10X35 4
82 | WSAL0 NEPH % 347 M10 4
83 | 044098500M Tvix ;10 6
84 | NSZ10 aHAZFyh 8 22 MI1O0 2
85 | 1385952004 NGB — AT R— ] 1
86 | 1385961004 HG R — AT IN— 2 1
87 | BSPZ08016 aBHZSWYFHRLE 7 M8X16 7
88 | 044097200M Ty 8 7
89 | WSAOS NRxPHx 347 MS 2
90 | 080414100M Jyiv ;8 2
91 | 8024660004 AFY T R—CP ; F 1
92 | 8024701004 ATV THR—CP ; Re 1
93 | 8024710004 e 1
94 | 0006900000 =¥U ;M8X14 2
95 | CP06012 +FR_axY M6X12 6
96 | WS06 NREPHx 247 M6 6
97 | WRAO6 LI AE M6 2
98 | 075290100M Ty ;10 1




JRB3020 KEBFEO—I)LR—F
HIORT—R 2

°
065-0037-1012
AES] B W 5 R <R (R fii
1 | VRCLBO68 V~LRRCLB—-068 S.ALvYas/NL 2 2
2 | 1361830000 ¥ 7k 1
3 NN16 FTA4arFyr M16 2
4 | 0590442006 FUATT vy 2
5 | 1361840004 V=Y ;250—-B—2N 1
6 | KFD08070400 ~ayX— JarvkT 8X7X40 1
7 | 0007290004 A B 1
8 | JCS206LLU o=y h3a3URTYL 7 CS206LLU 1
9 | BSZ10030 afERLE 7 M10X30 3
10 | WSALO NP Hx 327 M1 0 3
11 | 136185000M HZ7—;30. 5X89 1
12 | 0841561004 AFvrsry hCP ;13T 1
13 | J6206LLU R—=n_7YV>27 6206LLU 2
14 | DHCO62 CHEZNAD TF 62 1
15 | 0771913004 RT Y TNgT 1
16 | 0772360000 _7 YT 1
17 | BSZ08020 afHERLE 7T M8X20 3
18 | WSA08 NREPHx 337 MS 3
19 | 0702170000 HT— 1
20 | 094780000M HT— 1
21 | 0828401004 TF—U—RA; 2 1
22 | 0919740004 7—1 ;175 1
23 | BSZ10030 afHERALE 7T M10X30 6
24 | WSAL0 NREPHx 327 M10 6
25 | VAGSLC-067 V~Lhk AGSLC—067 2




JRB3020 KEBHEO—ILR—F

hovar—=X;2
i T T w;eooom 4 i) fiE fid
26 | 1361860000 ¥ 7k 1
27 | 085105000M Toyvx; 21X9 2
28 | NN20 FAmrFyh M20 2
29 | 1361870004 VF—1 ;315—C—2 1
30 | KFD10080700 ~MayF— JgvkT 10X8X70 1
31 | 0771913004 RT Y TNg T 2
32 | 0772360000 _7 YT 2
33 | BSZ08020 afBZRLVE T M8X20 6
34 | WSAOS NREPHx 337 MS 6
35 | 1364090004 27vsry b, #80X 13T 1
36 | KFB10080450 ~NMauk— HH<)L 10X8X45 1
37 | 136188000M HT—;40. 5X58. 6 1
38 | LAS0064 n—5Fx—2 80X64L 1
39 | 1361890000 ¥ 7k 1
40 | 1183190004 27wy b, #80X30T 1
41 | 0573680000 N -
42 1 0701730004 BT — 1
43 | 0771913004 RT Y TNgT 2
44 | 0772360000 _X7T YT 2
45 | BSZ08020 affHZRLVE T M8X20 6
46 | WSAOS NREPHx 337 M8 6
47 | 136190000M HT—;40. 5X10 1
48 | 1361910004 27wy b, #100X9T 1
49 | WRA30 eI R M30 1
50 | NC2L30200 FyvALFy bl 2¥a2b7 M30X2. 00 1
51 | PC063045 7Yy 6. 3X45 1
52 | LA100040 n—5F=x—>2 100X40L 1
53 | 1361920000 Fovara—I 1
54 | 136193000M BT — 1
55 | BZ16040 ALk 8.8 M16X40 2
56 | WSA16 NREPHx 337 M1 6 2
57 | 000761100M Tyl ;16 2
58 | 1361970004 T ary7—ALCP 1
59 | KBB-2530A H—R RIARTIV T A 25X28X30 1
60 | 044214301M Tyl ¥ ;25. 5X1. 0 1
61 | DCO25 CHZ N AD Y7 25 1
62 | ONA6 JV—A=v7) A M6 1
63 | 1307340004 Fovaru—5 ;130 1
64 | J6205LLU R—n_7YV27 6205LLU 2
65 | DCO25 CHZ M AT Y7 25 1
66 | 083092000M 277 H 1




JRB3020 KEHEO—IA—F
AURZAT

13787
065-0037-1025
RHES| & ah & 5 S T T < B (EES i 1
1 082810100M 7T 1
2 BSZ08030 aFEALVE 7T M8 X30 2
3 044097200M Yyix ;8 2
4 NSPO8 A EAT) Ty~ 4 M8 2
5 0776261000 L=k 1
6 CP06020 +F7_XaRxY M6 X20 2
7 NP06 A7V T7F v~k M6 2
8 0852363004 LS—T—LCP; 1 3
9 KBB-2530A =R RTAXTY 7 A 25X28X30 3
10 | 044214301M Uyt x;25. 5X1. 0 3
11 | DCO25 CHHENAT L7 25 3
12 | 085238100M 77— 3
13 | 073444000M Vb -
14 | 0852390004 TrvaryAZaly b 3
15 | J6006LLU R—=n_TYV>7 6006LLU 6
16 | DHCO55 CHZ K ADU 77 55 3
17 | DCO30 CHHENAD T2 30 3
18 | 085887100M N—CP; 2 3
19 | 077178000M AT THx T 6
20 | 085240000M ATV THx T 2 3
21 | 082809000M ATV T 3
22 | NZ12 JTvh 8 2¥=2 MI12 6
23 | 0841561004 27wy FCP ;13T 2
24 | 073444000M Vb -
25 | DCO30 CHHENAT T2 30 2




JRB3020 AHEBEA—/ILA—F
AMUES4T

AHES | # dn & W dn 4 Ml %% i =
26 | J6206LLU R—A_XTV27 6206LLU 4
27 | DHC062 CHZLAY 75 62 2
28 | LAB0127C E—7Fx—r 80X127L 2PA71V¥72 | 1
29 | 0939130000 H—7Fx—r;80X72L 1
30 | LA80184 P—7Fx=—r 80X184L 1




JRB3020 REBER—IA—T
Evi7v7;1

:.;3—“;‘
30
13780-1
OEE-0037-1013
RHES| B E 5 (R fii =

1 1358861004 vy 7 v T 7 L—ALCP 1

2 | 0826892004 77%7 v hCP 1

3 | 1358252004 H A4 RFL—KCP; L 1

4 | 1358311004 H A4 KL —KCP ;R 1

5 | BSZ10020 aB AP 7T M10X20 10

6 | WSAL0 NRPH X 347 M10 10

7 | BSZ08016 aHEZRLE 7 MS8X16 2

8 | WSAO8 NP Hx 347 MS 2

9 | 082697000M F3aCP 1

10 | 081267000M Friaru—5CP 1

11 | DCo17 CHEZNAD U 1

12 | WRAL6 7R 1

13 | PC032032 oYy 3. 1

14 | ONB6 7)) —2=v 7L B M6 1

15 | 079302000M 27V 7 H 1

16 | 079301100M RLH 1

17 | NSZ08 alFZFvh 8 232 MS 1

18 | BAI08120 ARLE 4. 6 P M8X120 1

19 | WRAOS v 7R 2

20 | 082701200M 71—}k ;R 2

21 | WRALO v 7R 4

22 | BSZ10020 aBERNLE 7 M10X20 4

23 | WSAL0 NREPHx 347 M1 0 4

24 | 0827043004 Yy T T A= R 1

25 | 0827053004 YT T A= L 1




JRB3020 REBER—IA—T
Evi7v7;1

e I I e oo 4 W &% fifi
26 | 1359010004 83— R 1
27 | 1359020004 J3— ;L 1
28 | 082706300M o0—XZH_"—CP ;R 1
29 | 082762300M n—XZH"—CP ;L 1
30 | BSPZ08016 aHESWYFRLE 7 M8X16 16
31 | WRAO8 E I AF MS 10
32 | 1386720004 25 —C P 1
33 | 1358982004 sy FHR—CP 1
34 | 082712400M PAR—b; CP 2
35 | 000088100M NR—HEL 1 9X3 2
36 | WRA20 eI M20 2
37 | 000739000M JrFEL: 9 2
38 | 138641000M RILKRCP 1
39 | NSZ10 aBAZFyh 8 22 MI1O0 1
40 | 0446221000 Tav T 7 Y— B 4
41 | 044617100M T — 4
42 | 135897000M 7Z7 > b 2
43 | 136442000M 7Z7 > b 2
44 | BSZ08035 aBERLE 7 M8X35 2
45 | BSZ08030 aBERLE 7 M8X30 2
46 | BSZ08020 aBFERLE 7T M8X20 2
47 | NSPO8 aAHEATYTF v 4 MS 6
48 | WRAOS E I A% M8 4
49 | NSZ10 aBAZFyk 8 22 M10 4
50 | WSA10 NxHHH 397 M10O 4
51 | RBT10030 REZB 10. 9 M10xX30 4




JRB3020 REBER—IA—T
Evi7v7;2

065-0037-1014
e I T e I - R %k T
1 LA12B070 og—7Fx—2 12BX70L 1
2 0826921000 ¥ 7 b 1
3 0826932004 HZA LTS L—KCP 3
4 075290100M Uiy ;10 2
5 BX10070 ALE-10. 9 M10X70 2
6 NNF10 TJI9oF A arF vk M10 2
7 WSA10 NEXYPHR 397 M10 2
8 082694000M 77— 1
9 082695000M 77— 1
10 060807100M Uiy 2
11 000712000M Yy ALFyh; M24X1. 5 2
12 PC032032 vJry 3. 2X32 2
13 JCS206LLU 2=y IR CS206LLU 2
14 JPEF206G NRAT7F53Y =) PF206 4
15 BSZ10020 aFHZRNE 7 M10X20 3
16 BSZ10025 aBFHZRNs 7T M10X25 3
17 WSA10 NREYPHR 397 M10 6
18 NSZ10 aBFH¥Fvy s 8 22 M1O0 3
19 0882910004 A27asr hCP ;32T 1
20 KFB08070300 ~MaAyx— HHF</L 8XTX30 1
21 1418360004 XA 3— CP 5
22 0640350000 FAar7Tyva 15
23 065487000M v 35X1. 2 -
24 PC050056 DU 5X56 10
25 1418490000 X7V 7 SBX0343LLM 5




JRB3020 REBER—IA—T
Evi7v7;2

065-0037-1014

AHER| W E B 4 iz fifi
26 | DCO17 CHENAD DU 17 5
27 | 0797363000 B A 45
28 | 1358360000 ZA L 5
29 | 1358370000 24 R 5
30 | 079733100M AAra—; 1 55
31 | 079734100M A a—; 2 55
32 | 066951100M R 55
33 | 066952000M AL~ 55
34 | NNFO8 75V A urF v M8 55
35 | 1359000004 N 1
36 | BJ10025 #I7F v 7B 10. 9 M10X25 3
37 | NSZ10 aBfAZFyh 8 22 MI1O0 3
38 | WSA10 NREPFHx 327 M10 3
39 | 0827000004 n—477 v a 19
40 | RBT08020 RE B 9 M8X20 38
41 | WSAOS NEPFHx 327 MS 38
42 | BSPZ08016 aHXSWYFRLE 7 M8X16 38




JRB3020 KEBHEO—ILR—F

Evor7yTt 4
AES] B W 5 W & A FE fiE%k fidi
1 | 136015000M 2L yF_R—ZACP ;v k 1
2 | 136020000M + R T7—ALCP 1
3 | KBB-2025A H—AR RIARTIU L7 A 20X23%X25 2
4 | 082669000M T — 1
5 | DCO20 CHEZKIAD 27 20 1
6 | 1360220000 LR—2A wF 1 52 1
7 | CP06016 +FRaRxY M6X16 1
8 | NP06 ATV TF vk M6 1
9 | 078898100M ATY T 1
10 | 080103100M AR M8 1
11 | NSZ08 aBxZFyh 8 232 MS 2
12 | 136023000M Vo735 CP 1
13 | BSZ08020 aBERLE 7T M8X20 2
14 | NSZ08 alAZFyh 8 232 MS 2
15 | WSA08 NRxPHx 347 MS 2
16 | 136026000M 2y RCP 1
17 | BL8D JoZ7R—) BLAHX AZX M8 1
18 | NSZ08 alFZFvh 8 232 MS 2
19 | 000085200M R—FE:8X1. 6 1
20 | 1360270000 JAY 1
21 | 123771000M HI—:8. 5x11 1
22 | WRAOS E IR MS 1
23 | 000085200M R—FE:8X1. 6 1
24 | 136028000M A Nl N 1
25 | BSZ08020 aBERLE 7T M8X20 2




JRB3020 KEBFHEO—/ILR—F

Evo7yT 4

AES] B W 5 W & A FE (R fii
26 | 044097200M Jviy ;8 2
27 | WSAOS NxPH % 34T MS 2
28 | 136150000M AA o F_R—2 ; U7k 1
29 | BZ06020 ALE 8. 8 M6X20 2
30 | WRAO6 LI ATFR M6 2
31 | WS06 NREPHx 247 M6 2
32 | NZ06 Fvh 8 232 M6 2
33 | 1361510000 LR=Z2AvF ;130 1
34 | CP06020 +F R XY M6X20 1
35 | NP06 ATV TFw b M6 1




JRB3020 KEBFHEO—/ILR—F
aORT7IL—L

065-0037-1017
AER] B 5 W & A FE (R fii
1 1359030004 71 —ALCP ;L 1
2 | 1359220004 71 —ALCP: R 1
3 | 1359300000 TLTL—k 2
4 | 135931000M 7 L—k 2
5 | CM08020 +HTaxy M8 X20 14
6 | 1359620004 Fl—hF; L 1
7 | 1359630004 71—}k ;R 1
8 | CP08016 +FRaxy M8X16 12
9 | WSAO8 NEPHx 347 MS 12
10 | 1359640000 TLTL— | 1
11 | 135965000M ZL—k 1
12| 135966000M A N 1
13 | BZ06012 ARLE 8. 8 M6X12 5
14 | Wso6 NREPHx 237 M6 5
15 | 1359320004 XA FCP 1
16 | BSZ08020 afHERLE 7T M8X20 8
17 | WSA08 NREPHx 337 MS 8
18 | 135936000M A7 L—s% 2
19 | BSZ08020 afHERLE 7T M8X20 8
20 | WSAOS NREPHx 337 MS 8
21 | WRAOS E IR MS 8
22 | 1359371004 F—7)LCP 1
23 | BSZ08020 afHERLE 7T M8X20 4
24 | WSAO8 NREPHx 337 MS 4
25 | 080414100M Jov¥ ;8 4




JRB3020 KEBFHEO—/ILR—F

ARTF7IL—LA
e I I W 4 B
26 | 1359400003 FoR— 1 1
27 | 1359410003 FN— ;2 1
28 | 1359420003 F8— 3 1
29 | BSZ08016 aBERLE 7T MS8X16 2
30 | WSAO8 NRxPHx 347 MS 2
31 | 0796583000 =%V ;50 4
32 | 079659100M T TR 16
33 | WRAO8 E I AFE MS 8
34 | PS040016 ATV T 4X16 4
35 | 1359430004 Frvay7L—ACP ;L 1
36 | 1359490004 Fo3ar7L—ACP ;R 1
37 | BSZ10025 aBFHZRLE 7 M10X25 8
38 | WSA10 NREPHx 347 M1 0 8
39 | 075290100M Tv¥%x ;10 8
40 | BXI10090 ALVR 10. 9 Py M10X90 2
41 | NSZ10 aBAZFyh 8 22 M10 4
42 | 1359531004 72y hCP; L 1
43 | 1359561004 727y CP ;R 1
44 | BSZ10025 aBFEZRLE 7 M10OX25 8
45 | WSA10 NREPHx 347 M1 O 8
46 | 8019290004 A TFCP 1
47 | 8019230004 2 L—r—RAC P 1
48 | 8019280004 ZL— K 2
49 | 089217000M ATV T 3L AvF 1
50 | 089218000M ATV T R AvF 1
51 | WRAO6 E I Fx M6 4
52 | 000057200M Y ;B10X45 1
53 | 000054200M Y ;B10X30 2
54 | WRA10 EZ7HHR M10 3
55 | PC032016 JJEY 3. 2X16 3




JRB3020 A BHFEA—/LA—F
AUNTIRD

065-0037-1018

RHES| & ah & 5 S T DO < IO (EES i
1 8019180000 X7 YL b 1
2 1429550004 o—7CP;Re 1
3 1260981004 X7V TL—Z; 80 2
4 0770673004 XYY TL—ACP ; 80 2
5 JUC208D1LL]J 2=y hEUXT Y7 UC208D1LL]J 2
6 BS710025 IFEARNLE 7T M10X25 10
7 WSA10 NEXPHHR 327 M10 10
9 0573680000 DA -
10 1429600004 RACP ; L 1
11 1429610004 ARACP ; R 1
12 | JCS208LLU o=y ha 7Y CS208LLU 2
13 | BSZ10025 aFEARLVE 7T M10X25 4
14 | WSA10 NEXPHTHX 347 M10 4
16 | 0686750000 A7y ;21T 1
17 1270500003 27wy b 80X22T 1
18 | 0668610000 DA -
19 | NC2L30200 Ty v ALFyh 2287 M30X2., 00 2
20 | PC063045 Uy 6. 3X45 2
21 LA80039 n—7Fx—r 80X39L 1
22 | LA60160A n—7Fx—2 60X160LF72VFT1 1
23 1359820004 o—7CP; F 1
24 1359840000 DA N 1
25 | JPF207G NATTY <) PF207 4




JRB3020 KEHEO—/ILR—F

OAVARTIRD
AHER| W E B i N - iz i
26 | JCS207LLU o=y haURFTYL 2 CS207LLU 2
27 | BSZ10020 aBERLE 7 M10X20 6
28 | WSA10 NREPHx 347 M1 0 6
29 | 128655000M HT— 2
30 | 065487000M A5 35X1. 2 -
31 | 0770703004 R7YLTL—ACP ; 72 2
32 | 1260971004 RFPYTL—R T2 2
33 | JUC207D1LLJ o=y hIURTYLZ UC207D1LL]J 2
34 | BSZ10025 aBHZRLE 7T M10X25 10
35 | WSA10 NREPHx 347 M1 0 10
36 | 802351000M BT—;35. TX6 1
37 | 0930150003 A7y b #60X19T 1
38 | 0885830000 VA 25. 5X45%X1. 0 -
39 | NC2L24200 XFyYvALFy bk 202y M24X2. 00 2
40 | PCO50036 JUEY 5X36 2
41 | 802352000M H5—:35. TX67 1
42 | 1359860003 27Fa4 > hCP ; 25T 1
43 | 135989000M FvaCP 1
44 | 135994000M 2y RCP 1
45 | 081267000M Fryvara—5 CP 4
46 | DCO17 CHENAD 27 17 4
47 | DC025 CHENAD P27 25 1
48 | ONB6 7)) —2=y 7L B M6 1
49 | 072088000M 2FV T A 1
50 | WRA12 eI R M1 2 1
51 | NZ12 Fvh 8 232 M1 2 2
52 | WRA20 eI M20 1
53 | PC040040 JUYEY 4X40 1




JRB3020 KEBFHEO—/ILR—F

VAT Tk

065-0037-1019

e I T e I - R %k T
1 | 1359970004 7—ALCP 1
2 | ONB6 7V —2=v7/L B M6 2
3 | 145029000M EYCP ;F20X60 2
4 | BSZ10020 aBFARLE 7T M10X20 2
5 | wsa10 NEHFEH X 327 M1 0 2
6 | 136005100M oy RCP 2
7 | 056369400M A 2
8 | NzC18200 Jv Rk 8 3v= M18X2. 00 2
9 | 000080100M EY:;B20X55 4
10 | PC040032 JUEL 4X32 4
11 | 1360070004 25—CP ;P 2
12 | ONB6 7V—2=v7/L B M6 2
13 | 108885000M A7V H6X40X236 2
14 | 094642000M AT VT AT — 2
15 | NZ12 Fvh 8 2va M12 4
16 | 136010000M 27— R 2
17 | 056369400M 7L E A 2
18 | NZC18200 Fvhk 8 3v= M18X2. 00 2
19 | 000080100M EY:B20X55 2
20 | 000099000M EY:B20X75 2
21 | PC040032 JUELY 4X32 4




JRB3020 KEBHEA—/ILR—F
HARRh—k,. 70OV

AHER| W E B T D < D /) iz fifi
1 | 0934220004 YA RAH—F; L 1
2 | 0934230004 P4 F2H—F; R 1
3 | 055474000M BRI M8X20 6
4 | NSP08 AHEATY Ty s 4 MS 6
5 | WRAOS IR MS 6
6 | 1362220004 = FuCP 1
7 | 1002530004 A=A = 2
8 | 055474000M B FHRLE 8. 8 M8X20 8
9 | NSP08 aAHEATY TSy s 4 MS 8
10 | 100251000M S = 4
11 | PS030020 ATV LT 3X20 4
12 | 000085200M NR—HEL 88X 1. 6 4




JRB3020 KEBEA—IA—T
NAT427 (1)

< /@/
oL

1

A
2" 29 —(®

2
W
25
3

AHER| W E B T D < D /) iz i
1 | BSZ10030 aBFEZRLE 7 M10X30 2
2 | BSZ10035 aHAZRLE 7 M10X35 2
3 | NSZ10 aBfxZFy bk 8 22 M1O 4
4 | WSA10 NREHHx 327 M10 4
5 | 084164100M 2N -
6 | 0829022004 7 —ALYR—KCP 1
7 | BSZ10025 aFHZRLE 7T M10X25 4
8 | WSA10 NREPFHFX 327 M10 4
9 | 044098500M Jv¥% ;10 4
10 | ONA6 7)) —2=v 7L A M6 1
11 | 0829054004 2A 7 —ALCP ; R 1
12 | 0829074004 ZA T T7—LCP ; L 1
13 | 061847000M Ty 2
14 | PS050032 ATV T 5X 32 2
15 | ONB6 7)) —2=v 7L B M6 1
16 | 082908100M VO 1
17 | 000460000M BRI 8. 8 M8X30 2
18 | NSPOS aAHEATFY Ty s 4 MS 2
19 | 082909000M 2FY T R 1
20 | 082910000M 2FY 7 L 1
21 | 082911000M 7—ALCP ;R 1
22 | 082915000M 7—ALCP ; L 1
23 | 079496100M HA Ka—/LCP 2
24 | NSPO8 aAHEAFY Ty s 4 MS 2
25 | WRAOS E IR MS 4




JRB3020 KEBEA—IA—T
NAT427 (1)

RES] B 5 s 4 i} (R fid
26 | 0845000000 Ty 9X 1. 2 2
27 | 080816200M HA KT —ALCP 2
28 | CP06016 +F_Raxy M6X16 4
29 | NP06 AV Fy b M6 4
30 | 077412000M AT T 2
31 | 080819100M AN 2
32 | DE004 EAHXNAT 4 2
33 | PC032016 Yy 3. 2X16 2
34 | WRAO6 EI7FHR M6 2
35 | 082916000M AT T 1
36 | 080103100M AV M8 1
37 | NSZ08 affZFyh 8 2v=2 MS 2
38 | 086184200M 2SI CP 1
39 | 0829173004 750 3—CP ; S 1
40 | 0774093000 Ty 1
41 | 061847000M Ty 2
42 | PS050032 ATV T 5X 32 1
43 | 082919000M HA RFL—h 1
44 | BSZ08020 afHERLE 7T M8X20 2
45 | NSPO8 afBZATY Ty b 4 M8 2
46 | 0829201004 75 3%—CP ; IN 1
47 | PS080040W AT T XTIy 8X40 1
48 | PS050040W AT Ty X7Na7y 5X40 1
49 | 0829211004 77 83—CP ; L1 1
50 | 060807000M PHER; $25. 5X3. 2 1
51 | PS050040W ATV Ty XIZNEaT 5X40 1
52 | 0829221004 7w "—CP ;L2 1
53 | 0774093000 Tya 1
54 | 061847000M Ty 3
55 | PS050032 AFYLTEY ; 5X32 1
56 | BSZ08025 afHERLE 7 M8X25 2
57 | WSAOS NREPHx 337 MS 2
58 | 044097200M Ty ¥ ;8 2




JRB3020 KEBEA—IA—T
N TAVT (2)

065-0037-1028

AHER| W E B T D < D /) iz fifi
1 | 082923000M 71 —*%7L—RCP 1
2 | BSZ10025 aHAZRLE 7T M10X25 1
3 | WSA10 NEYPHx 347 M1 0 1
4 | 082924300M A A 1
5 | 080410000M ATV T 2
6 | BSZ10040 aBFAZRLE 7 M10X40 2
7 | WRALO ETHFHR M10 4
8 | 082925000M N—CP 1
9 | 0774343004 LN—C P 1
10 | 082926200M PFR—FCP 1
11 | 077699000M A p17X0. 5 4
12 | 061847000M Ty 4
13 | DCO16 CHENAD 27 16 4
14 | 082927400M F4 77 L—F: R 1
15 | 082928600M FAT7FL—F ;L 1
16 | 055474000M BRI ;M8 X 20 2
17 | NSPOS aAHEATFY Ty R 4 MS 2
18 | WRAOS E IR MS 2
19 | PS040008 ZAFY LT 4 X8 2
20 | 1020460000 FA 7 2
21 | TPAO3006 FREZ 2T A 3X6 2
22 | 082929300M 7 v7 ;R 1
23 | 082930400M 7 w7 L 1
24 | BSZ08025 aBERLE 7T M8X25 2
25 | WRAOS E IR MS 2




JRB3020 KEBEA—IA—T
N TAVT (2)

AES| W & B oo 4 W &% fifi
26 | 082931300M a2y he—)L7—ACP 1
27 | NSZ08 alAZFvh 8 232 MS 1
28 | 082933100M ZFL— K 1
29 | NNFO8 75V FAfarFy b M8 1
30 | 044097200M Jviv ;8 1
31 | 082934000M ATV T 1
32 | 077412000M ATV T 2
33 | PC032016 UKy 3. 2X16 1
34 | 0773932004 ZFL— K 1
35 | 077392100M N— 1
36 | TRA06016 oy BT EIELRY A 6X16 3
37 | 077423200M 7vZ7CP ;R 1
38 | 077404200M 7y 27 CP; L 1
39 | 080410000M ATV T 2
40 | NNFO8 75V, arFy b M8 2
41 | 080415300M LR—CP 1
42 | 077446100M ATV T 1
43 | BSZ10060 aBAZRNLE 7 M10X60 1
44 | NNF10 7504 urFy ko M1 0O 1
45 | WRAL0 EZHFHR M10 2
46 | 079496100M HA Ka—/LCP 1
47 | BSZ08030 aBERLE 7 M8X30 1
48 | NSPO8 aABBATY T Ty b 4 M8 1
49 | WRAOS E IR MS 2
50 | 080417300 75 9 FIN—CP 1
51 | 080419400M 7 vFCP 1
52 | WRA12 eI R M1 2 2
53 | PC032016 Uy 3. 2X16 2
54 | 082935000M AT T 1
55 | 077412000M ATV T 1
56 | PC032016 JJEY 3. 2X16 1
57 | 082936000M 7 wia Ly R— 2R 1
58 | 0794741000 7 vy an 1
59 | 079475100M HT— 1
60 | BSZ08040 aBERLE 7T M8X40 1
61 | NSPO8 SAHEATY Ty R 4 MS 1
62 | 079469100M NOA ALY 1
63 | 801919000M LN—C P 1
64 | BSZ08025 aBFERLE 7T M8X25 1
65 | NSPOS aAHEATFY Ty 4 MS 1




JRB3020 KEBFFEO—ILA—F
KSA4TT—1)

KHIT—O

13803
065-0037-1036
RHES| & ah & 5 S T DO < IO (EES i

1 0932530000 FN— 1
2 0809850000 K74 77— 1
3 BSZ08050 afEARNVE 7T M8X50 4
4 NNFO8 774 urry b M8 4
5 0809870000 AN—=FF ;20T 1
6 JRNA6901 =— R NL_X7VJ 7 ; RNA6901 1
7 0883040000 vA;16. 5X1. 0 -
8 PS040025 ATYTEY ; 4X25 1
9 ONA6 JY—RA=v7 )L A M6 1
10 | 0932541004 ¥ 7 hCP 1
11 | DCO15 CHHENAT P27 15 1
12| 0809891000 *YCP ;58T 1
13 | J6004LLU _X7YU27 6004LLU 1
14 | DHCO42 CHZRNAT TF 42 1
15 | DOCO55 CHHERNAT T2/ 55 1
16 | 0577881000 DA -
17 1 0722000000 DA -
18 | 0883130000 vAh; 60X1. 0 -
19 | 0883140000 T2, 55X60X60 1
20 | 0883152000 ¥YCP ;57T 1
21 ONA6 JYV—=A=y7L A M6 1
22 | 0883180000 AN 1
23 | BSZ08020 aFEARNLVE 7T M8X20 1
24 | BSZ08030 aFEARLVE 7T M8X30 3
25 | WSAO8 NEXPHTHR 3947 M8 4




JRB3020 KEBFFEO—ILA—F
KSA4TT—1)

KEIw—24

065-0037-1036

AHES | # dn & T T I < N Ml %% i =
26 | JHFL3530 Vr9=A277vF  HEL3530 1
27 | G35424 AA N —/ G35X42X4 1
28 | 0774862000 7—ALCP 1
29 | J6202LLU N7V 6202LLU 1
30 | DHC035 CHZ LAY 77F 35 1




JRB3020 KEBEA—ILA—F
Ov¥2 T ho25

L
AHER| W E B T D < D /) iz fifi
1 | 0830813004 0y 77 L —KCP 2
2 | 083083100M ZL— k 1
3 | BSZ08025 aBHHZRLE 7T M8X25 2
4 | NSP08 AHEATY Ty s 4 MS 5
5 | 0830860004 Ty 7 b 1
6 | PS060063 ATV TEY 6X63 2
7 | PS100063 27V Y 10X63 2
8 | 0828111006 ATV T 4
9 | 043341501M 2 T AT — 4
10 | NZ12 Fvh 8 2v=2 M12 12
11 | 083087100M oy RCP; 855 2
12 | 079422000M TA—J TR ;10X40 4
13 | 079423000M Er;10X40 4
14 | NSZ10 aBAZFyh 8 22 MI1O0 3
15 | 8028490004 KU w7 LA—CP 2
16 | 060807100M Ty 6
17 | PC050036 JUEy 5X36 12
18 | 0830911004 0yX /77 CP 2
19 | 083084000M (% 2
20 | WRA20 eI M20 6
21 | BSZ10030 aBAZRLE 7 M10X30 2
22 | 083092000M ATV T 2
23 | BSZ08060 aBEZRLE 7T M8X60 2
24 | 025266000M Fa AP HXR 2
25 | 083095200M vy CP 2




JRB3020 KEHEO—/ILR—F

Ayx2 T hoa
i T T oo 4 FE fiE fisi
26 | 000738000M JoFEY ;6 2
27 | 0830930000 Tavw T T I—N 2
28 | 083094000M T — 2
29 | BZ12050 ARLE 8.8 M12X50 2
30 | 0830961000 07— 2
31 | BXI12050 ALE 10. 9 T M12X50 2
32 | 083097200M 7T—ALCP ;1 1
33 | 0794892006 ATV T 2
34 | 083098200M oy RCP ;555 1
35 | BSZ10025 aBFHZRLE 7 M10X25 1
36 | 088328300M 7—ALCP ;2 1
37 | 083101000M 2y RCP 1
38 | PC032032 JUEy 3. 2X32 1
39 | 083100000M 2y ha—/LLR—CP 1
40 | 077461200M T 1
41 | BZ06020 ARLE 8. 8 M6X20 2
42 | NP0OB ATV T Fw b M6 2
43 | ONB6 7)) —2=v7)L B M6 2
44 | 0967020000 VRV 1
45 | CP03016 +F_axy M3 X16 4
46 | NAO3 Fyh 4 232 M3 4
47 | 045998000M N 2
48 | 079744000M Fr— 1
49 | BSZ08020 aBAZRNLE 7T M8X20 1
50 | WRA10 eI R M10 3
51 | 044097200M Jyiy ;8 2
52 | NSZ10 aBAZFyh 8 2= MI1O 4
53 | WSA12 NEYPHx 347 M1 2 2
54 | WRAO6 LTV FR M6 2
55 | WS03 NREPH % 247 M3 4
56 | WRAOS LI AR MS 1




JRB3020 KEBFFEO—ILA—F
FOALTL—F

13800

065-0037-1026

e I T W & A FE (R fidi
1 083153000M B —T75 FCP 1
2 | 083996200M T 1
3 | BSZ08030 aBFHZRLE 7 M8X30 2
4 | NSZ08 alAZFvh 8 232 MS 2
5 | WsA08 NEPH X 34T MS 2
6 | WRAO8 IR MS 2
7 | 077500300M B HZ—CP 1
8 | 077499100M IN— 1
9 | PC032016 JUEY 3. 2X16 2
10 | 077495200M ZFL— K 1
11 | BSZ08025 aFHZRLE 7T M8X25 1
12 | 044097200M Uiy 8 1
13 | NNFo8 7504 urFy R M8 1
14 | 083154000M IN— 1
15 | 079424000M T4 —J TR 8X32 1
16 | 079425000M L 8X32 1
17 | NSZ08 alFZFvh 8 232 MS 1
18 | WRAOS E IR MS 1
19 | PC032016 UKy 3. 2X16 1
20 | 136459000M ) v #51—CP 1
21 | 083156200M ZL— K 1
22 | TRK10020 6 hAXY 10. 9 ZARI M10X20 1
23 | NSZ10 aBAZFyh 8 22 MI1O0 1
24 | 136461000M 7L — K 1
25 | PS030020 AT T 3X20 1




JRB3020 KEBFFEO—ILA—F
FOALTL—F

065-0037-1026

AHER| W E B T D < D /) iz fifi
26 | 077503300M F ¥ LRIV 2
27 | 077557200M 27V T A 2
28 | BZ06055 ARLE 8. 8 M6X55 2
29 | NNF06 750 FfurF v M6 2
30 | 083157200M A R7 757> NCP 1
31 | BSZ08020 aHEZRLE 7T M8X20 2
32 | NSP08 aBZATI T Fy k4 M8 2
33 | WRAO8 IR MS 2
34 | 081748100M HA RCP 1
35 | WRA10 eI R M10 2
36 | PC032016 Uy 3. 2X16 2
37 | 066672400M AR 5
38 | WRA20 eI R M20 3
39 | DC020 CHEZNAD 27 20 5




JRB3020 A BFFEA—/LA—F
kA=Y

30

065-0037-1029
AES| W & B T D < D /) iz fifi
1 | 1362770003 NOA L — T 7L —ACP 1
2 | 055474000M B FHRLE 8. 8 M8X20 4
3 | NSP08 SABHEATY Ty s 4 MS 4
4 | 1362702003 P A4 RZL—ALCP ;R 1
5 | 1362732003 + 4 RZL—ALCP ; L 1
6 | BSZ08020 SaFERLE 7T M8X20 17
7 | NSP08 SAHEATY Ty 4 MS 17
8 | WRAOS IR MS 17
9 | 1363430004 71—k R 1
10 | 0831400004 ZFL— K 1
11 | BSZ08025 aFHZRLE 7T M8X25 8
12 | NSPOS aAHEATY Ty R 4 MS 8
13 | WRAOS E IR MS 8
14 | 073438200M 78— 2
15 | 0006900000 =X1J ;M8X14 2
16 | 1362750000 TIASL— K 1
17 | 1362760004 ZL— K 1
18 | BZ06016 ARLE 8. 8 M6X16 4
19 | Wso6 NREPFHx 227 M6 4
20 | 0933732003 YA RH"—CP ; L 1
21 | CP06016 +F_RaxY M6X16 3
22 | NPO6 ATV T Fw b M6 3
23 | WRAO6 LI AE M6 3
24 | 093376000M N— 1
25 | 073304000M 2AFV T A 1




JRB3020 A BFFEA—/LA—F
kA=Y

AES| W & B oo 4 W &% fifi
26 | BSZ08035 aBHZRLE 7 M8X35 1
27 | NNFO8 7504 urFy R M8 1
28 | WRAOS E I Ax MS 1
29 | 000085200M NR—HEL 88X 1. 6 1
30 | 0796583000 =%V ;50 1
31 | 079659100M T TR 3
32 | WRAO8 E IR MS 1
33 | PS040016 ATV T 4X16 1
34 | 0333782000 7Y w7 2
35 | NSP08 aAHEAFY Ty s 4 MS 4
36 | 0831434003 J¥HR—CP 1
37 | BSZ08020 aBFERLE 7T M8X20 5
38 | NSP08 aAHEATFY Ty s 4 MS 5
39 | WRAOS E IR MS 5
40 | 0801653003 Fg 73— 1
41 | 115574000M 78— 2
42 | 1181490000 =% ;M8 4
43 | 0831441003 = P HR—C P 1
44 | 067139100M Fa vy 2
45 | CP06016 +F_Raxy M6 X1 6 7
46 | NPO6 ATV TF vk M6 7
47 | WRAO6 E I E M6 7
48 | 0796583000 =%V ;50 1
49 | 079659100M T TR 3
50 | WRAOS E AR MS 1
51 | PS040016 AFYL T 4X16 1
52 | 083195000M oy R 1
53 | PC032032 JUJrr 3. 2X32 1
54 | PS040025 AT T 4X25 1
55 | WRA12 EZHFHTR M1 2 1
56 | 077578100M ATV Ty vF 1
57 | CP06016 +F_axY M6X16 2
58 | NP06 ATV TFv R M6 2
59 | 0831450000 2 L% 1
60 | 083146000M 7L —hkCP 1
61 | BSZ08020 aBFHRLE 7T M8X20 2
62 | WSAOS NxPHx 347 MS 2
63 | WRAOS E IR MS 2
64 | 0831473003 83— R 1
65 | 0831483003 F8— 1 L 1
66 | BSZ08020 aBERLE 7T M8X20 6
67 | NSPOS aAHEATFY Ty s 4 MS 6
68 | WRAOS E IR MS 6
69 | 0009600000 NV R W—60CT (ST M) 2




JRB3020 XEBFEA—/LA—F
H/N\—:1

065-0037-1030

AES| W E B T I < i
1 | 1509510003 7uy h#HAA—CP ; RRE 1
2 | 0832382003 Zuy hHR—CP; L 1
3 | 0796582000 =XU ;50 5
4 | 079659100M BT R 15
5 | WRAOS t IR MS 5
6 | PS040016 ATV TEY 4X16 5
7 | 0777051000 A TV 2
8 | 083229200M N— 2
9 | 073304000M 2FYT A 2
10 | BSZ08035 aBHZRLE 7T M8X35 2
11 | NNFOS 75 A arFy b M8 2
12 | WRAOS ETY R MS 2
13 | 0832403003 #F—hKHX—CP ;R 1
14 | 0832424003 #F—hKH"—CP ; L 1
15 | 0833470004 LU CP 2
16 | WRAOS E I AFE MS 4
17 | BSPZ08025 aHXSWYFRLE 7 M8X25 4
18 | 0796582000 =%V ;50 4
19 | 079659100M T TR 12
20 | WRAOS E IR MS 4
21 | PS040016 ATV T 4X16 4
22 | 0777051000 Iy X 4
23 | 0775910000 JA¥YCP 2
24 | BSZ10025 aBFHZRLE 7 M10X25 4
25 | NSZ10 aBAZFyh 8 22 MI1O0 4
26 | WSAL0 NEPFHx 327 M10 4




JRB3020 AEBER—/ILA—F

H/N—:1
e I I e oo 4 W &% fifi
27 | WRALO EZHFHR M10 8
28 | 1363390003 Ty R HNR— R—2 1
29 | 1363340004 777 v hCP 1
30 | BSPZ08020 aHFHESWYFRLE 7 M8X20 3
31 | BSZ08030 aBFERLE 7T M8X30 2
32 | NSPO8 aAHEATFY Ty s 4 MS 2
33 | 044097200M Jviv ;8 5
34 | 1363401003 7y hHNN—CP ; L—2 1
35 | 0796582000 =%V ;50 1
36 | 079659100M T TR 3
37 | WRAO8 E I F MS 1
38 | PS040016 ATV T 4X16 1
39 | 0832462003 F—FHR—; R 1
40 | 0832471003 J— KR — L 1
41 | BSZ08020 aBERLE 7T M8X20 6
42 | WRAOS E IR MS 12
43 | NSP0O8 aAHEAFY Ty s 4 M8 6
44 | 1088571003 83— R 1
45 | BSZ08020 aBERLE 7T M8X20 3
46 | WRAOS E I F MS 6
47 | NSPO8 aAHEATY Ty R 4 MS 3
48 | 083340000M VO 1
49 | BSZ08020 aHEZRLE 7T M8X20 2
50 | WRAOS E I A% M8 2
51 | NSPO8 aAFBATYV T vk 4 M8 2
52 | 083339000M V% 1
53 | BSZ08020 aHFERLE 7T M8X20 2
54 | WRAOS E 7% MS 4
55 | NSP08 SABFEATY Ty 4 MS 2
56 | 1088560003 HA—CP ;L 1
57 | BSZ08020 aBFERNLE 7T M8X20 5
58 | WRAOS E IR MS 10
59 | NSPO8 SABFEATY Ty 4 MS 5
60 | 083588100M HN—ZF—C P 1
61 | WRAOS E 7P AF MS 4
62 | NSP08 SAHEATY TSy 4 MS 2
63 | BSZ08020 aBFHZRLE 7T M8X20 2
64 | 0832483003 83— R 1
65 | BSZ08020 aBFERLE 7T M8X20 6
66 | WRAOS E IR MS 12
67 | NSPOS aAHEATY Ty s 4 MS 6
68 | 083232000M 7Z7 > b 1
69 | BSZ08020 aBERLE 7T M8X20 2
70 | WRAOS E IR MS 4
71 | NSPO8 aAHEAFY Ty s 4 MS 2
72 | 0832492003 F8— 1 L 1
73 | BSZ08020 aBERLE 7T M8X20 6
74 | WRAO8 E I AFE MS 12
75 | NSPO8 AHEATFY Ty s 4 MS 6
76 | 0009341000 NV R Y—60CT (ST M) 2
77 | 1509550003 7y hHR—CP ; RF 1




JRB3020 AEBERA—/ILA—F
HN—;2

065-0037-1031

AHER| W E B T I < i iz fifi =
1 | 0832505003 J3— R 1
2 | 0832515003 J3— L 1
3 | BSZ08020 aBHZRLE 7T M8X20 14
4 | WRAO8 ETY R MS 28
5 | NSP08 aAHEATY Ty s 4 MS 14
6 | 0832281003 J¥HR—CP 1
7 | BSPZ08020 aHXSWYFHRLE 7 M8X20 4
8 | WRAOS TR MS 4
9 | 1510480003 F—F IR —C P 1
10 | 027425500M Fa gy 2
11 | BSZ08020 aBFHZRLE 7T M8X20 4
12 | 0333782000 79 v 1
13 | NSPOS aAHEATY Ty s 4 MS 2
14 | 1308240000 AN T — |k 4
15 | 1364220004 71 —ALCP: F 1
16 | BSPZ08020 aHFHESWYFRLE 7 M8X20 3
17 | 044097200M Jviv ;8 1
18 | BZ05020 ARLE 8. 8 M5X20 1
19 | WS05 NRxPHx 247 M5 1
20 | WRAO5 E I A% M5 1
21 | 1364171003 B2y FR—C P 1
22 | 1364210003 VIR 1
23 | 1364300004 71 —ALCP :Re 1
24 | BSPZ08020 aHFHESWYFRRLE 7 M8X20 20
25 | WRAOS E IR MS 10




JRB3020 AEBERA—/ILA—F
HN—;2

065-0037-1031

AHER| W E B T I < i iz fifi =
26 | 044097200M Ty ; 8 2
27 | BZ05030 ALE 8. 8 M5X30 1
28 | NPO5 ATV TFw h Mb5 1
29 | WRAO5 ETY R M5 1
30 | 1461181003 AL kN — 1
32 | 044097200M Uiy 8 1
33 | NSZ10 aBxZFyh 8 22 MI1O0 1
34 | WSA10 NREPFHFX 327 M10 1
35 | 0009350000 FR§Z7~_1L; R—70100SQS 2
36 | 0446211000 Tav T T V—RA 1
37 | 044617100M BT — 1
38 | BSZ08030 afZRLE 7T M8X30 1
39 | WRAOS E IR MS 2
40 | NSPO8 AHEAFY Ty 4 MS 1
41 | 138473000M 77 NCP 1
42 | BSPZ08020 aHFHESWYFRLE 7 M8X20 2
43 | BSPZ08025 aHXSWYFRILE 7 M8X25 1
44 | 044098500M Tv¥%x ;10 1
45 | 1510530003 78— 1




JRB3020 KEBHEO—ILR—F
ayy

37

)
38
35—

%/33

&—31
27
AES] B W 5 I 2 il (R fid
1 | 0775173106 PULH ;CSO40X400X570 2
2 | ONA6 TV =A==y A M6 4
3 | 0467461003 AR, T CP 2
4 | 077519100M ATV T 2
5 | CM04012 +HZaxy M4 X12 4
6 | NPO4 ATV F v N M4 4
7 | 077516200M =V 2
8 | PC050036 Uy 5X36 4
9 | 083960100M v CP 2
10 | BSZ10030 affBZRLVE 7T M10X30 2
11 | NSZ10 affiZ vk 8 22 M10O 2
12 | WSA10 NREYPHx 337 M1O 2
13 | 1033-06-04 AR—AT )R PF3/8XPT1,/4 1
14 | KHO603900DP a7YER—A 3,/8X3900 S901—4 1
15 | 2083-06-04 =v7NV PT3/8XPT1,/4 1
16 | 2091-06 74— PT3,/8 1
17 | 1013-04-06 R—A=v7) PF1,/4XPT3,/8 1
18 | KHO400630AP ar7VAR—A 1,/4X630 1—4 1
19 | 1035-06 AR—AxT/NR45 PF3,/8XPT3,/8 1
20 | KH0602500DP a7VAR—A 3,/8X2500 S901—4 1
21 | 2091-06 74— PT3,/8 1
22 | 2083-06-04 =v7NV PT3/8XPT1,/4 1
23 | 0009280000 ARy TNV T 1,4 1
24 | 2086-06-04 TR PT3/8XPT1,/4 1
25 | 115355000M An—) X —1 VT 3,8 1




JRB3020 KEBHEO—ILR—F

ary
F® L
W7
Y
37— 3 ﬁ
38
35—8
b
&—31
27
AT &7
27 % /@\31
A
RHES| 5 oL’ il i 4, iy &% i}
26 2083-06—-04 =v7) PT3/8XPT1,/4 1
27 0776862106 IUUAECS025X115X220 2
28 136065000M B> B15X50 2
29 136066000M B :B15X85 2
30 PC032032 DUy 3. 2X32 4
31 1035-04 R—AT)AR45 PF1/4XPT1,/4 2
32 KH0404000DP 27VAR—A 1,/4X4000 S901—4 1
33 KH0402900DP 27YKR—A 1,/4X2900 S901—4 1
34 2091-04 74— PT1,/4 1
35 2083-04 =7 PT1,/4 2
36 0009280000 ARy )VT 1,4 1
37 2086-04 )R PT1,/4 1
38 112156000M SIRYUNR 0 1,/4 1
39 0749681000 AL FGNF2—T ;500 35
40 ILT300 Aovanmy X4 ;4. 8X301 8
43 KHO601000AP a7VHR—A 3,/8X1000 1—4 1
44 1033-06 R—AT)LR PF3/8XPT3,/8 1
45 2091-06 74— PT3,/8 1
46 2083-06—-04 =7 PT3,/8XPT1,/4 1




JRB3020 KEBHEO—ILR—F

FYY
e I T T I < i iz i
1 | 1315100000 ~y RZ 7 2
2 | 136496000M A/ AN 1
3| 130496000M 2507 1
4 | BZ06016 ALE 8.8 M6X16 2
5 | Ws06 NRxPHx 247 M6 2
6 | WRAOG IR M6 2
7 | 1125520000 y¥S5.7; 3F 2
8 | 1364940000 AR A 1
9 | 1570370000 AT RT T H 1
10 | 1569771004 INRTA VT T b 1
11 | 0853120000 ~7 x> b 2
12 | CP03010 +F_axy M3X10 4
13 | NAO3 Fvh 4 232 M3 4
14 | Ws03 NREPHx 247 M3 4
15 | 1315090000 R— 1
16 | BZ06016 ARLE 8. 8 M6X16 2
17 | WRAOB LI AE M6 2
18 | NP06 ATV T Fw b M6 2
19 | 0950130000 Uy hASL vF 1
20 | 095012000M VO 1
21 | CP04020 +FRaxry M4X20 2
22 | NP04 ATV T Fy b M4 2
23 | WRAO4 E TR M4 2
24 | PC032016 UKy 3. 2X16 1
25 | 062688200M 2FV T ¢ 8. 8XTO0 1




JRB3020 KEBHEO—ILR—F

Ty
AES] B W 5 R <R
26 | 1365041000 a— R
27 | 1364971000 a— R ot
28 | 130496000M 770
29 | ILT150 A any ¥ A4 3. 5X152
30 | 0969300000 WA T a
31 | 8028160000 ~NUH s aA—
32 | 1579130000 g F— R Fa2—7 ;60
33 | 1579140000 Arany s ZA
34 | 1579170000 75 FAN ;19




JRB3020 XKEBFEO—/)LR—F
XaHha

8
/@\néV 1 &

D &

%2

ﬁrzg

F 8 M

G B M

065-0037-1034
RES] B R <R (R fidi

1 0993660000 VWP—=TFANF LT 2
2 | 1089730000 Hrars AR L—F 2
3 1089741000 R=ATHTH—, PT1,/8 2
4 | 099386100M 777 hCP 2
5 | BSZ08016 af AR 7T M8X16 4
6 | NSPO8 aBBZATI T Fy k4 M8 4
7 | 1003771000 Fa2—7:550 1
8 | 1007150000 R—A7F7 9. 5 4
9 | 1085380000 ¥Ry 2
10 | 108946000M UARLE;M10 2
11 | NNF10 Jo oA b M10 4
12 | 1003822000 F=2—7 ;1350 3
13 | 1003793000 Fa2—7 32630 1
14 | 1003801000 F2—7:850 1
15 | 1091160000 Fa2—7 34700 1
16 | 136451100M X2 L —KRCP 1
17 | BSZ08025 afHERLE 7T M8X25 1
18 | WSA08 NEPFHx 327 MS 1
19 | 102152000M T L 1
20 | 102153200M T R 1
21 | WRAOS E IR MS 1
22 | 0797980000 A= SV 2
23 | 136161000M AN 1
24 | BSZ10030 afHERALE 7T M10X30 1
25 | NP10 ATV 7 Fy b M10 1




JRB3020 XKEBFEO—/)LR—F
XaHha

E &
o
e 16
-]
D B M
%2
ﬁrzg
F Bt
G B
065-0037-1034
RHES| 5 oL’ il i 4, iy &% i} =

26 | 099388000M FL—k 3
27 | BZ06016 ALK 8. 8 M6X16 3
28 | NP06 AT Fy b M6 3
29 | 0993870000 77 6
31 | ILT380 fvvany B4 7. 5X382 2
32 | ILT200 frvanay XA 4. 7TX202 4
33 | ILT150 frvany /X4 3. 5X152 2
34 | 2082-02 oy k7777 PT1,/8 8
36 | 1312350000 Fa2—7:,750 1
37 | 150619000M F LRI 1
38 | BSPZ08025 aHXSWYFHRALE 7 M8X25 2
39 | WRAOS IR M8 2




JRB3020 KEBHEO—ILR—F

<—7
13794-4
065-0037-1035
RHES| B E 5 W & A FE fiE%k fii

1 1510540000 GHEZF—ALFL—h: JRB3O 1
2 | 1339790000 STARY—Z7I~L; 63 1
3 | 1339080000 STARY—Z77~L; 63 (AL YF) 2
4 | 1339070000 STAR~Y—Z77~L; 40 (rHALYXx) 1
5 | 0768560000 AT A r—E~w—7 1
6 | 0768570000 FUA —T 1
7 | 0874891000 a—yg S L—h 1
8 | 1237930000 S~V m—LSG 1
9 | 1237630000 TV, ARTA7280L 1
10 | 1237640000 TV s ARTAT7280R 1
11 | 1237940000 T~ 3000 2
12 | 1061640000 F A4 a1 1
13 | 1061710000 I A4 a8 4
14 | 1064090000 SV A4 ay 28 1
15 | 1064100000 SV A4 ay 29 1
16 | 1065840000 SV A a7 170 1
17 | 1064120000 SV A4 ay 31 1
18 | 1064130000 SV A4 ay 32 2
19 | 1064140000 SV A4 ay 33 1
20 | 1065240000 SV A a7 110 2
21 | 1064170000 SV A4 ay 36 1
22 | 1425880000 FYL s FANE Y 1
23 | 1369720000 SAYL s T 1
24 | 1503960000 SV A 1
25 | 1503970000 FYL s FavkA 1
26 | 1511000000 SV A4 ay 187 1
27 | 1511280000 SV A4 ay 215 1




JRB3020 AHEBERA—/ILA—F
T ooravka—)L

137591

AHE S

i dh 2

W A &

(EES

1E8665—02050

TIRNLTAY

1E8790-02060

Tl N— CMP

1E8665—02100

TIRNT

1E6821-02200

~HYSx T 1. 2

1E6470-02400

ALE 4X8 vk

1E6460-12260

N—FKkevy79 v 8

1C6141-43971

FL—hF 12

1A1140-58050

AL R =FT

1E6102-84970

TAXY—=hANNF 140

WRAO6

7P HE M6

— | =
— o@D |0 |k |w ||

22157-080000

PIx  (FA~< 8

—_
[\

DE004

EJNS FADU 4

—_
w

PC016018

7y 1. 6X18

—
o~

26014-080202

ALE (BT+13% 8X20

NN === =]=|=]=]|=|=]=]=]=




JRB3020 REBFEQ—/LAN—F
IOV T-N IVOVRAE

AES] B W 5 R <R (R fii
1 1E8830-00050 TP 1
2 | WSA12 NREPHx 327 M1 2 4
3 | BZ12030 AR 8.8 M12X30 4
4 | 1E8380-01100 RISy Ny A A= 1
5 1E8780-01120 TV kv R 1
6 | 1E8375-01150 zYrwyrhyvnm R 2
7 | 1E8380-01200 Ry anh (7 600 4
8 1D4071-43300 HFH* 12X26X3. 2 4
9 | WSAL2 NREPFHX 327 M1 2 8
10 | 26013-100252 AR O% 10X25 12
11 | NA12 Fy kb 4 232 M12 8




JRB3020 KEBHEO—ILR—F

oy B3 M2
AES] B W 5 H 4 FF (R fii
1 1E8380-03000-1 | x> U aw & 7 1
2 | 1E6693-03050 FO—-T L=450 CMP 1
3 | 1E8820-03050 FO—T L=200 CMP 1
4 1E8230-03100 Xyrv7 (FOZU 7 1
5 | Wso4 NEPHHX 237 M4 2
6 | BZ04020 AR 4X20 2
7 | 1E8820-03110-1 | > 7 AP N K 2
8 | 1E9000-69790 —) 5X30X375 2
9 | 1E3160-03300 TU—PHF—2 925 1
10 | 1E3070-03350 FO—T L=2150 ASY 1
11 | 1E8380-03400-1 | F o=y 1
12 | 1E8820-03490 Fo v R—A 1
13 | 1E3160-03250 FO—T L1450 CMP 1
14 | 104200-55080 KL 757 1
15 | 101504-55101 FOavx (fAUTF 1
16 | 119802-55700 2AAL T UF CMP 1
17 | 119802-55710 TLAVR (AL TV ¥ 1
18 | 26018-080202 ALk (EF2—8 8X20 4
19 | 194205-63550 77— 1
20 | 1E6681-83090 7V vy COT—35 2
21 | 1E6102-83230 | Ny TV —Hr—T N7 57 1
22 | 1E6102-84960 TJAY FANRCEK 250 1
23 | 1E6102-84970 JAY—FANRCE 140 1
24 | 1E6102-84970 JAY—FANRCE 140 1
25 | 1E6102-84970 JAY—FANRCE 140 1




JRB3020 KEBHEO—ILR—F
R

AES] B W 5 H 4 FF (R fii
26 | 1E6102-84970 JA¥X—FANRVE 140 1
27 | WRCAO8 LIV R ab¥ M8 1
28 | WRAOS e HEx M8 2
29 | 22190-120002 T yiy (v 12 1
30 | Wso8 IS S s I S 1
31 | 23000-013000 H—=A7 Vw7 13 8
32 | 23000016000 m—A7 Vw7 16 2
33 | 23000-090000 m—27 Vw7 90 2
34 | BZ08075 RLE 8. 8 M8X75 1
35 | BZ108100 AR 8.8 PLM8X100 2
36 | NAOS Fvy bk 4 232 MS8 2
37 | 1E8820-03140-1 | FUELZ 7 NUY A A X 1




JRB3020 KEBHEO—ILR—F

I79)—+
13739
AES] B W 5 R <R (R fii =
1 1E8785-04100 FagFA—x A 1
2 | 1E8785-04110 X2UFAK—Z B 1
3 | 1E8645-04140 —J)L 35X140X146 1
4 1E8380-04150 T —FRT— 1 FLITARTA b
5 1E8785-04170 XauFki (L H— 1
6 | 194180-04280 NoFy (B0 R 1
7 194180-06150 770y bk (=770 —F 1
8 | 129467-12550 77 U—F CMP 1
9 119005-12510 TL AN (TUH 1
10 | 121820-12560 T+ b 1
11 | 121422-12580 Tra—X LT 1
12 | WSAOS NEYPHx 347 MS 2
13 | 23010-065001 HR—ZANRL R 65 1
14 | 23010-070001 HR—ZANRUR 70 1
15 | 23010-080001 HR—2ZANRL R 80 2
16 | 26018-060162 ALk (E52—% 6X16 3
17 | 26018-080162 ALk (E52—% 8X16 2
18 | 26018-080202 ALk (EF2—8 8X20 3
19 | BZ08045 ALE8. 8 M8X45 2
20 | NAOS Fv b 4 232 MS8 4




JRB3020 KEBHEO—ILR—F
375

%:,_-«1 1 . |
Tt
i
IIII|||||: Iillli
""":::I Iy 11
T Sl
il —
i n
|
I
::""nu :u 1
T T
21— / /o] ‘,4,“' 1 |
00" |4 ) jiil":: i 15
Wl 11 ‘,":::: i g
A
6 i gy |t 11
[t | gygpyy |t
2 -"'f‘li::"l 1 i,
[ ywpno ot
™ franne it
Lt |1y e
WA
14375-2
AHES| B E B B mn 4 PR 5% fisi
1 1564910000 ~77—H1"—CP; 1 1
2 1564920000 ~7 7= —CP; 2 1
3 1509500000 ~7 77— —CP; 3 1
4 1509060000 ~77—CP 1
5 1509201000 ~7 77—/ T7CP 1
6 1509242000 ~77—A7—CP; A 1
7 1531340000 T T 1
8 1509450000 T—)VNA TAT—CP ; B 1
9 1509460000 T =)W T AT —CP ; C 1
10 | 1509600000 HATy ~ (A LeY) (VT RA) 1
11 BP06016 SWYFxHR/Lh 4. 6 M6X16 13
12 BSZ08020 aHHZRNVE 7T M8X20 8
13 WSAOS8 NREAYF AR 3327 MS 8
14 044097200M Uoix; 8 8
15 | 1512510000 HoXYHPA ;240X260 3
16 1512520000 A2V A;240X160 3
17 BSZ10030 aBFERNVE 7 M10X30 1
18 WSA10 NREP AR 337 M10 1
19 075290100M Uyt x% ;10 1
20 BSZ08030 aFERNVE 7T M8X30 2
21 WSAOS8 NREAYF TR 3327 MS 2
22 NSZ08 afjZFryk 8 2v= MS 2
23 044097200M Uoix; 8 4




JRB3020 KEBHEO—ILR—F

SVI—4

AES] B W 5 R <R (R fii
1 1E8645-04010 TR 1
2 | 1E8645-04040 R—A 1
3 121820-44810 Yfp—TH 1
4 121850-44850 v/ 1
5 | 121850-44860 T A > hoXy 1
6 | 121850-44880 07T 1
7 1E8785-04151 Tgag Ny 1
8 | 1E8380-04200 A= N A=/ 1
9 | 1E8380-04431 FO—T 880 CMP 1
10 | 1E8730-04300 2T R 1
11 | 1E8730-04400 U —HR— A T 1
12 | 1E8730-04410 4 —H K —A B 1
13 | 1E8785-04410 U —HR—A K 1
14 | 1E8730-04421 RAXXNA T CMP 1
15 | 1E8655-04450 R—AYXT 28X17 1
16 | 1E8785-04480 | %47 910 1
17 | 1F4124-44410 V2IVERLE 6X10 1
18 | 129467-44520 FVxT—4% CMP 1
19 | 121250-44590 VA 2
20 | 129107-44590 Xvv7 (0. 9KG/CM2) D46 1
21 | 119255-44660 Ry vIn (FxH 2
22 | 121850-44910 770y N (BTE 1
23 | 129150-49100 YRy CMP 1
24 | 121267-49500 HR—2ANRL R 38 2
25 | 124766-59050 R—=AZ7 Vo7 (= 12 2




JRB3020 KEBHEO—ILR—F

SVI—4

AHER| W E B T I < i iz fifi
26 | 1E8230-61140 —J 15X15%X30 1
27 | 22157-060000 PHR (XA~ 6 2
28 | 23000-013000 m=A7 Vw7 13 2
29 | 23010046001 BF— AN R 46 2
30 | 26013-060302 B (3% 6X30 2
31 | 26013080162 BRIk 3% 8X16 1
32 | 26013-080162 ALR 0Nk 8X16 2
33 | 26014-060162 ALE (ET+3% 6X16 2
34 | 26014-060162 Bk (E94+3% 6X16 4




JRB3020 KEBHEO—ILR—F

EITEREINLE
13732-1

AES] B W 5 R <R (R fii
1 1E6690-35500 HHH 12X28%X4. 5 1
2 | 1E8730-51000 VArE=17 sV N N 1
3 | 1E8235-51051 FTrvary—U 80X47 1
4 | 1E8730-51150 V~Lh 58—51 W800 2
5 | 1E6140-51660 | T > i av%xY 10X123 1
6 | 1E9000-51050 |~ 3% 25X 183 1
7 | WSAlL2 NEPEH % 347 M1 2 1
8 | DHC040 CHZKMAD TF 40 1
9 | J6203LLU R—A_XTV27 6203LLU 2
10 | DV2023020 RS T2 20X20 2
11 | 26013-080202 AL (% 8X20 1
12 | NA10O vk 4 232 M10O 2
13 | NA12 Fybh 4 232 M12 1
14 | 22157-08000 PR (FA~L 8 1




JRB3020 AHEBERL—I/ILA—F
LA T =R AN T —A B#MT—2A

16 19 16 19

RHERS| E S I <R (R fii
1 121027-11742 | "4 7 (R =2 v 1
2 | 1E8730-53000 | X v a4~ —AL CMP 1
3 198071-24350 | FL— bk (=<K 2
4 | 1A1040-28470 | > =2~ K 25 2
5 | 1E8730-53031 | X v a4 —AR 1
6 | 1E8730-53050 | PK (S wyav A r—=A 1
7 | 1E8605-53060 | RL AR RASY (MG 1
8 | ORP016 ovV.7 P—16 1
9 | 1E8730-53950 | Fomwaki T/ 1
10 | 1E8660-86550 | 1A T & 1
11 | 22287-100000 | A—s,S—p v Z7H¥FH % 10 9
12 |22312-080160 | ~f =2t 8X16 2
13 | ORGO30 oV7 G—30 2
14 | ORSO18 o7 1A S 18. 0 1
15 | 26016-060162 | AR/ (RA—r%—mv27) M6X16 2
16 | 26016-100452 | ALk (A—r%—mw7) M10X45 5
17 | 26016-100602 | ALk (A—r%—mw 7)) M10X60 4
18 | BZ10110 ALk 8.8 M10X110 9
19 |[26226-120552 | V== IA/Lk 12X55 4
20 | 194521-41570 | B> 1 1X7 2
21 | 1E8730-53150 | 77~V 7 /r—R 1
22 | 1E8730-53160 | PK (7 7~V U /r—2 1
23 | 1E8730-53200 | PTOX —*% 1
24 | 1E8730-53221 | PTORA5— CMP 1
25 | ORS065 oV 1A S 65. 0 1




JRB3020 AHEBERL—I/ILA—F
LA T =R AN T —A B#MT—2A

16 19 16 19

RHERS| E S I <R (R fidi
26 | 26016080302 | AR/~ (A—smyZ 8X30 3
27 | 26016080602 | R/ kK (A—smvZ 8X6 0 7
28 | 26018080202 [ A4 L (EF2—s% 8X20 4
29 | 187A00-53400 | 77 AL —Z 462D CMP 1
30 | 1E8825-53450 | 77 ANA—A 272 CMP 1
31 | 1E8730-63700 | ¥ v¥7 v 7% CMP 1
32 | PS080016 ATV T 8X16 3
33 | ORGO60 oV.7 G—60 3
34 |26018-120352 | A/ bk (EF7%x—s% 12X35 6
35 |26016-120352 | ALk (A—s— v s 12X35 4
36 | 187A00-53500 | = Fa s —Ax 645 CMP 1
37 [ 187A00-55730 | =>Fa i v 7~ 644 1
38 | 187A00-55740 | A S T4 v HF— 1
39 |24101-060104 | R—L_XTULZ 6010 1
40 | 187A-55750 HT7— (mrFay 1
41 | ORGO75 ovVv”7 G—75 1
42 | 187A02-55700 |77 AT %7k 6195 1
43 | 187A00-53550 | 77 AJLIRILA 1
44 | BZ12030 ALk 8.8 M12X30 6
45 | WSA12 NREPFHx 327 M1 2 6
46 | 23171-010000 | 9% R 1,8 1




JRB3020 KREFEA—/ILR—F

AL

RHERS| E S I <R (R fii
1 | 1E8730-54020 | A/ F A>T aA >k 1
2 | 1E8730-54030 | FAU~SAR (FF 17 1
3 | 1E8730-54040 |E—&—F¥ 16T 2
4 | 1E8730-54050 |X7 VY~ NUP305 2
5 | 1E8730-54060 | ¥¥ 28T 2
6 | 1E8730-54080 | 3% 1
7 | 1E8730-54100 | ==awV a7 1
8 | 1E8730-54110 | L¥¥ 13T 1
9 | 1E8730-54120 |MKFKZAZ7F¥Y¥ 16T 1
10 | 1E8730-54130 | KU Z>F¥+¥ 21T 1
11 | 1E8730-54140 | H#TF7— 31X38X%X27 1
12 | 1E8730-54150 | H¥¥ 28T CMP 1
13 | 1E8730-54170 | Y A\YF T w2 24 1
14 | 1E8730-54181 | > 7% — A 1
15 | 1E8730-56481 | VF—1U 152B2 1
16 | 22157-160000 | FHx (XA~/L 16 1
17 | WSA16 NEXYPHFX 347 M1 6 1
18 | DCO19 CHEZNAT 27 19 2
19 | DCO40 CHEZKNAD 27 40 2
20 | DHC062 CHEZNAD TF 62 2
21 | KFDO7070250 ~MavFxF— UgwbT TXTX25 1
22 | J6304 R—L_XTV7 6304 1
23 | J6305 R—L_XTVYVZ7 6305 1
24 | 24148002064 |7 VU7 NJ 206 2
25 | NA16150 Fv bk (EFY 16 1




JRB3020 XKEBFEO—/)LR—F
PTO ¥k, SANTEL, hoLA3—vTk

RHERS| E S H o 4 i} (R fid
1 1E8730-54501 | PTO 137 1
2 1E8730-54511 | PTO 27 1
3 1E8730-54530 | PTOXY¥ 24T CMP 1
4 |194800-25380 | AF vV s 47 1
5 | J6303NR R7VYVZ7 6303N 1
6 | 1E8730-54550 | ¥¥% 19T CMP 1
7 1E8730-54570 | > U x=A27FvF (30X30 1
8 1E8540-55130 | 47— 31X38xX2 2
9 | DCO30 CHZMAD Y7 30 1
10 | DHCO52 CHENAT T+ 52 1
11 | J6205LLU R—=N_T7TYV 7 6205LLU 2
12 | 24421-255210° | >—/L TC255210 1
13 | 1E8730-55201 | ST L—FT 7/ 1
14 | 1E8730-55211 | S¥¥ 12T 2
15 | 1E8730-55220 | S KU ¥¥ 24T 1
16 | 1E8730-55251 | 77— 26 X30X35 2
17 | 1E8730-55261 | T — 26 X3 0X7 2
18 | J6304 R—=_TVY 7 6304 2
19 [ 19218025800 | =—FK/L 30X37X20 2
20 | 1E8730-54201 | oA ¥ 7k 1
21 | 1E8730-54210 | L¥¥ 24T CMP 1
22 | 1E8730-54230 | Y X\YFx 7w =2 30 1
23 | 1E8730-54250 |M*¥¥ 16T CMP 1
24 | DV353920 RIA4 7 w32 35X20 1
25 | 1E8730-54270 | A F A4 HF— A 1




JRB3020 XKEBFEO—/)LR—F
PTO ¥k, SANTEL, hoLA3—vTk

RHERS| E S I i} (R fid
26 1E8730-54281 V74— B 1
27 1E8730-54301 TA KT+ 7 b 1
28 1E8730-54320 T4 RKL¥¥Y 20T 1
29 1E8540-55130 77— 31X38X2 2
30 DC030 ChixbADU 7 30 2
31 KFD0O7070180 F¥— 7X18 1
32 J6205 AR—N_XTU 7 6205 1
33 J6305 AR—=N_XT7TU 7 6305 1




JRB3020 KEBHEO—ILR—F
SHOUAI YT

11

13708
RHES| & ah & 5 ST D < I (EES i
1 192180-25800 | =— K/ 30X37X20 6
2 1E8540-54190 | X7 U2/ NJ205E 1
3 1£8540-54130 | A Z7— 31 X38X2 5
4 1E8730-55300 SHU 2 x7 h 1
5 1E8730-55320 S¥¥ 30T (L 1
6 1E8730-55360 S¥¥ 30T M. H 1
7 1E8730-55380 | A7 74 A 7— B 1
8 1E8730-55391 | ¥ 7 ¥ — C 1
9 1E8730-55400 STA RV ~7 L~ 6 1
10 | 1E8730-55410 STA KV 7 N 7 1
11 1E8730-556421 S¥Y¥ 31—14T L CMP 1
12 | 24165-000372 | =— RN/L h XD (TF 37 1
13 1E8730-55441 S¥Y¥ 31—14T R CMP 1
14 | 24165-000372 | =— RN/Lh AT () 37 1
15 1E8730-55460 | #7— 30X35X26. 5 1
16 | 1E8730-56470 | A 7— 30X35X12. 5 1
17 1E8730-55480 | #7— 31X45X20 1
18 1E8730-55490 | 74 K/v¥¥ 19T 1
19 | DCO25 CHHENAT L7 25 1
20 | DCO30 CHHENAD T2 30 1
21 | J6304 R=n_XTY7 6304 1




JRB3020 XKEBFEO—I)LR—F
TS54431)

RHERS| E S I <R (R fid
1 194311-13550 | A~—H% (Fvr—2A 2
2 | 1E1230-33490 | X7 VU>Z TMBOO 4 2
3 | 1E8540-55171 | P ¥y 1
4 | 1E8730-55190 | XTI 3xH U =Fr 6
5 | 1E8540-55270 | AU (7 36 2
6 | 1E8730-55561 | v Z—FF 1
7 | 1E8730-55570 | ATZARW 18X30X1 12
8 | 1E8730-55582 | I x X UFx¥ U T 2
9 | 1E8730-55591 | FTIRHZ U v 7 b 6
10 | 1E8730-55600 | A > Z—F /L ¥¥ CMP 2
11 | 1E8730-55620 |H—27V v~ 2
12 | J6O1INR X777 6011N 2
13 | PS030012 A7V 3. 0AX12 6
14 | J6011 _7Y7 (6011) 2
15 | 24161-182412 | =—KA_XT7 U7 182412 12




JRB3020 XKEBFEO—/LR—F
7Oy e

Ead:=: |

RHES| & ah & 5 1 S T I 4 (EES i
1 1E8540-55440 | A A /v —/E v k 2
2 1E8540-55380 | A7 AKMW 40X60X2. 3 2
3 1E8540-55451 | —/V 1T — 40 2
4 1E8540-55460 | OS (QLFY548016 2
5 ORG040 OVv7 G—40 2
6 1E8730-55700 | 727 A/ ¥ 7~ 5945 1
7 1E8780-55710 | 77 AT ¥ 7 K 4245 1
8 DHCO80 CHHZNADU 77 80 2
9 J6208 R—=_XT V7 6208 2
10 | 1E6740-55480 | 77— (4 0X50X 30 1
11 1E8361-55560 | X7 U2 TM5208 1




JRB3020 KEBHEO—ILR—F

Bl
n—7 ‘
|
AHES| S E S il i 4 R %k T
1 194197-27681 F—7 7L — | 1
2 1E6210-54920 A7 23 1
3 1E8730-56090 ~—72 H 1
4 1E8730-56100 HA—7 M—S 1
5 1E8730-56121 R"—T %7 b 1
6 1E8730-56150 T~ LoN— CMP 1
7 1E8730-56200 T~ 7T —A CMP 1
8 1E8730-56240 BLE (R 1
9 22312-030140 ~aygey 3X14 1
10 PS035020 2T 3. BAX25 2
11 PS035032 27V 3. 5AX32 1
12 PS060025 ATV T 6X25 2
13 PS060032 ATV T 6X32 1
14 24190-070001 AF—Lih—)L (7,3 2) 1
15 24190-100001 AF—Lih—)L (5,71 6) 1
16 D20328 v—)L TC203208 1
17 26016-080202 AR (A—Xgvy”Z 8X20 1




JRB3020 KEBHEO—ILR—F

HST

AHES| S E S H i 4 R %k T
1 1E8730-56300 —agUalZhr—A A 1
2 1E8730-56310 —a2uUarsh—A B 1
3 1E8730-56320 PK (=27 Var/lr—RA 2
4 1E8820-56350 YyayHST CMP 1
5 1E8730-56551 A HST CMP 1
6 22287-120000 AZ—R—g I FH% 12 4
7 ORGO60 oOVv7 G—60 2
8 ORS046 OVv7r7 S—46 1
9 26016—-100302 ALV (RA—Xgv 7y 8
10 26016—120602 ALE (A—Xgvy”7 12X60 4
11 NA12 FTvbh 4 2= M12 4




JRB3020 KEBHEO—ILR—F
BE (Sviay)

RHERS| E S I <R (R fid
1 12419549100 | Ya A > kb (CWHE—A 3
2 | 1E8730-56650 | =%/ &% G3,/8—M1 2 1
3 | ORPO14 o7 P—14 1
4 | 1E8730-56710 |H 7 a 77 CMP 1
5 1E8730-56770 | V7 v avk—A (Fy— 1
6 | 1E8730-56800 | F¥— 317 1
7 | 1E8730-56840 |E RU=A—A B 1
8 | 1E8730-56850 | E RV 4 —= 1
9 | 1E8730-56860 | E NV 84~ 1
10 | 1E8730-56870 | 7L 7 /847 (ST L—F 1
11 | 1E8730-56901 |[/~A B> CMP 1
12 | 1E8730-56980 | ¥ 7 3 L k—A 1
13 | 1E8540-66130 | =v7/V G3,/4—20 1
14 | 1E8540-66140 | v F=/LAKR G3,/4—20 2
15 | 1E3050-66650 | 4 5% v F /LR 3,8 1
16 | 1E8050-66790 | 74— 150 Avi = 1
17 | 22190-080000 | > —nATUvi ¥ (Rrhaw) 8 1
18 |23001-035000 |&~—AZ U7 (FFF+> 35 6
19 | ORSO015 oV 1A S 15. 0 2
20 | ORSO18 o7 1A S 18. 0 2
21 | ORS065 o7 1A S 65. 0 2
22 | 26016080202 | ALk (A—smvyZ 8X20 2
23 | 26016080302 | ALk (A—smvyZ 8X30 6
24 | 26106-080162 | Y/ SRk 8X 16 1




JRB3020 KEBHEO—ILR—F

ATTFY T a5
: H—19
)
e
s
L
LQ{[I 15
| { 7
AES] B W 5 I < (R fid =
1 1A1330-26051 oy AR 8X115 1
2 1E8665-61010-2 | AT 7 U 7 —Z L 1 FLITLRTA b
3 7E8720-61020-2 | AT 7V 7/ —A R PL¥ 72 1 FLITLRTA b
4 1E8915-61031 ATFT VT aThxxyv s 1
5 | 1E8970-61040 ATT N T T—= 1
6 | 1E8790-61050-1 | =T L kU VA% L 1 | FLI7akTA R
7 1E8915-61050 ATT VTl — AT /N— 1
8 | 1E8790-61060-1 | =27 A KUY A% R 1 | FLIT7akTA R
9 1E8915-61060 a—R7yia 1
10 | 1E8665-61080 HT— 9X14X84 1
11 | 1E8790-61080-1 | =2F A MUY A X T 1 TLITLRTA B
12 | 1E8665-61130 cZS 2Rk 8X150 1
13 | 1E8645-61300 AL M8X20 (/nm 3
14 | 1E6690-61470 *¥ (5 2—% 6X16 4
15 | 1E6690-61470 *¥ (5 2—% 6X16 2
16 | 1E8790-61370 T—) 20X20X150 2
17 | WSA08 NREPHx 337 MS 1
18 | WSA0S NREPHx 337 MS 1
19 | WSA10 NREPHx 327 M10 2
20 | 26014-080202 BLbh (BEF5+% 8X20 4
21 | BZ10190 AL 8.8 M10X190 2
22 | BH0O8065 ¥vv7B 10. 9 M8X65 5
23 | BHO8070 ¥vv7B 10. 9 M8X70 1
24 | BH0O8075 ¥vv7B 10. 9 M8X75 2
25 | NBHOS 7ruatfvhk 3HFZ MS 1
26 | NA1O Fv b 4 2= M10O 2




JRB3020 KEBHEO—ILR—F

ATTIVYT
34 %
D
RES B W 5 R <R (R fii
1 198164-15790 S. KA NF¥>vT CMP 1
2 | 198164-15760 S.K"ANF¥ v 1
3 | 198164-15770 S. A NFY T A 1
4 | 1E4960-21020 HT7— 13. 8X25 1
5 | 1E4970-44110 HI— 10. 4X15X%X5 2
6 | 1E8490-54560 | X7rV> 27 8—16 (UU 1
7 | 1A1140-58050 2B R =X 1
8 | 1E8720-61100 ATTIVT V¥ T U= 1
9 1E8970-61111 ATTUVT FHbhaT A 1
10 | 1E8665-61160 FZPUNRR 4.0 1
11 | 1E8720-61170 FATNT—Ah U 1
12 | 1E8665-61190 TAT VNP 1
13 | 1E8665-61201 TAT N T —h UH 1
14 | 1E8665-61230 XU AR 4.5 1
15 | 1E8665-61241 RSN 1
16 | 1E8665-61250 Fray 7 ¥ 7k 1
17 | 1E8665-61261 FI T — A 1
18 | 1E8970-61280 FILhE T AT — 1
19 | 1E8540-61300 | N> KA a A >k 1
20 | 1E8915-61900 AT TV THRAN CMP 1
21 | 1A1040-63400 PHR 6. 4X16X1. 6 1
22 | 1C6660-94100 R—=NTZT7 16 1
23 | WRAOS E I AF* MS 2
24 | WRA12 B R M1 2 1
25 | WRA12 eI R M1 2 1




JRB3020 KEBHEO—ILR—F

RTTIY

e I T T I < i iz fifi
26 | WS06 NREFEHER 2237 M6 1
27 | WSAOS NREPHx 327 MS 2
28 | DE006 EXZ NAT 6 1
29 | J6003LLU R—L_XTYV27 6003LLU 1
30 | DV1214015 RSA4F7wi2 12X15 1
31 | 26013-080252 BRIk 3% 8X25 2
32 | 26013-100252 ARLE O% 10X25 2
33 | 26356-120002 Urv bk (AY 12 1
34 | BH0O6016 ¥yrvy 7B 10. 9 M6X16 1
35 | NBHO8 Z7uafv bk 344 MS8 1
36 | NAOS Fvy bk 4 232 MS8 1




JRB3020 KEHEO—ILR—F

ATTIUTEBEQN)
22
AHER| W E B T I < i iz i
1 | 1E4110-16050 HF— 9. 2X13. 8X9 1
2 | 1E6310-36190 HFHR 8. 5X35%X4. 5 1
3 | 1E8665-61300 T AHK)L CMP 1
4 | 1E8665-61330 a4k 10 1
5 | 106700-33030 | v hEY 1
6 | DCO20 CHEZKIAD 27 20 1
7 | 1E8665-61340 VAT — b 1
8 | 1E8665-61351 AN YAy 1
9 | 1E8665-61361 H—=2 0 AH)L 1
10 | 1E8665-61370 vy 10%X28. 5 1
11 | 1IE8665-61380 |7 A U2 6806UU 2
12 | 1E8665-61390 HT— 30X34X2 1
13 | 1E8655-61400 H5— 13X16X25 1
14 | 1E8665-61420 J—<R/L s 8 9
15 | 1E8665-61480 | _X~L¥¥ 14T 1
16 | 1E8665-61490 AN 1
17 | 1E8665-61500 Y2 RUXY CMP 1
18 | 1E8665-61830-1 | HA RAF— A 1
19 | 1E8720-61830 HA RAT— 1
20 | 1E8665-61860-1 | /N—FRAH A RAF— 1
21 | 1E8665-61882-1 | /N—RAH A K 1
22 | 1E8665-61890 | v RAR/L K 8 1
23 | WRAOS E I AF* MS 2
24 | WSAO8 NEPFHx 327 MS 1
25 | WSAOS NRxPHx 347 MS 1




JRB3020 REFFEO—/LA—F
ATTITEEN)

e I T e I - R %k T
26 | WS08 AT E 8 5
27 | DHCO42 CHENAT TF 42 1
28 | DEO10 EAX AT 10 1
29 | 22492-040282 | 2V X ELC 4x28 1
30 | KFD05050150 ~ayF— JaybF 5X5X15 1
31 | J6001LLU R—A_7VUr”7 6001LLU 2
32 | J6001LLU R—A~_7VU>7 6001LLU 2
33 | J6003LLU R—L_7Ur7 6003LLU 1
34 | J6201LLU R—_7VZ7 6201LLU 1
35 | 26014-060162 | Ak (EF5+% 6X16 2
36 | 26014-080202 | ALk (EF+% 6xX20 2
37 | 26014-080202 | ALk (ETF+% 6xX20 2
38 | 26014-080202 | ALk (EF+% 6xX20 1
39 | 26014-080252 | ALk (ET5+% 6X25 3
40 | NUOS UJ vk M8 1
41 | NAO8 Fvhk 4 2va MS 1




JRB3020 KEHEO—ILR—F

ATTILTEE(2)

T 10 "

M e

7

AES] B W 5 R <R (R fidi
1 1E4760-43090 Vo ZA—N BLS8D 2
2 | 1E8665-61530 28— 10X18X1 2
3 1E8665-61541 A 2
4 | 1E8665-61550 Farvrmay R 1
5 | 1E8665-61560 oA my R 1
6 | 1E8665-61570 Ly R 1
7 1E8665-61730 T2 8X10X5 2
8 | 1E8540-63270 NCO08 YaArFh 2
9 | 1E8540-63280 Xaylasky hvw 4
10 | WRAOS LI F* MS 2
11 | 22157-060000 IR (XA~ 6 2
12| Wso6 NP Hx 247 M6 2
13 | WsA08 NRxPHx 347 MS 2
14 | PC020015 JUELY 2X15 2
15 | 24550-010150 K547 w2 10X15 2
16 | NAO6 Fy bk 4 232 M6 2
17 | NAO8 Fv bk 4 232 M8 4




JRB3020 REB/FEO—/LA—F
ATT)THEE3)

AES] B W 5 R <R (R fii
1 1E6910-37320 'y 5X40 1
2 | 106720-47610 JyrZAR—N BL6D 1
3 | 1E3080-47660 Fv bk 6 (Lx¥ 2
4 1E8720-61140 FTA T hARA CMP 1
5 | 1E8720-61200 XUy CMP 1
6 | 1E8720-61352 Loy 7k 1
7 | 1E8720-61370-1 | Lo/ T — A 1
8 | 1E8720-61400 vaYvalZf7 FR 1
9 | 1E8720-61431 vayarsvx 7k T 1
10 | 1E8665-61630 v AV CMP 1
11 | 1E8665-61720 Favtfoy R 2
12 | 1E8720-61720 Far71LYT7—LRy 7 A CMP 1
13 | 1E8720-61750 Fa LY 7—2Ah CMP 1
14 | 1E8665-61780 JrrAh—1 BL6D-L 2
15 | 1E8720-61901 XU HhT7r—A A CMP 1
16 | 1E8720-61931 XY HTr—A B CMP 1
17 | 1E8720-61950 AT —)b 1
18 | 1E8720-61980 oy Rmy R HS6 1
19 | 1E8720-61990 |-X7 VU7 6903 LLU 2
20 | 1E8050-63130 | /3% 1. 6X9. 4X25 1
21 | 1E8665-63251 7 (M6X15 1
22 | 1E8250-63700 Fh4XEy 5X25 (H 2
23 | 1E4030-99340 gy 1. 6X8 1
24 | WRAO5 E I A% M5 2
25 | WRAOS eI H R M8 1




JRB3020 REB/FEO—/LA—F
ATT)THEE3)

AES] B W 5 il 4 (R fii
26 | WS06 NREFEHER 2237 M6 4
27 | WSAOS NREPHx 327 MS 1
28 | DC020 CHEZKNADT 27 20 1
29 | DC025 CHENAD 27 25 2
30 | DCO25 CHEIAD 27 25 1
31 | J6001LLU R—A_XTUL”7 6001LLU 1
32 | J6003LLU R—A_XTUL27 6003LLU 1
33 | J6005LLU R—L_XTUL27 6005LLU 2
34 | 24190-120001 2F—LR—/L (3,8) 1
35 | DV1016020 RS 7 =2 10X20 2
36 | DV1214020 R4 7 w2 12X20 2
37 | DV1719015 RSA47 w2 17X15 2
38 | DV2023020 RS 7 w2 20X20 2
39 | NAO6 Fyh 4 232 M6 6
40 | NAOB Fy bk 4 232 M6 1
41 | NAO8 Fvyh 4 232 M8 1
42 | 26911-120122 FARXRY (BT 12X12 1




JRB3020 REBHEA—/LA—F
PARaSL FrEY (1)

AES] B W 5 il 4 (R fii =
1 1E8645-61400-1 | 7> L 1
2 | 1E8785-61502-1 | 4 KaZ A7 L —A (C 1
3 | 1E8785-61980-1 | B+ K= A H/3— (T |k 1 | 7LIT7LKTA R
4 | 172137-69840 | A K%Y Zn 8 1
5 | 22137-080000 PHR (I ¥ 8 1
6 | 22217-080000 | SRYPHER 8 1
7 | 26014-060162 ARLE (ET9+13% 6X16 2
8 | 26014-080162 ALE (EF+13% 8X16 2
9 | 26014-080202 ALl (ES5+3% 8X20 4




JRB3020 REBHEA—/LA—F
PARaSL FrEY (2)

AES] B W 5 R <R (R fii =
1 1E4200-32490 V7 RTF—F T7TX5X340 1
2 | 1E4124-44410 V2IVERLE 6X10 2
3 | 1E8560-61301-1 | bN—FH A R <= 1
4 | 1E8560-61322 a5 (v —)L v 1
5 | 1E8560-61331 INF—)L v 1
6 1E8560-61350-1 | L S—H A K T 1
7 1E8560-61371 a7 Afv—/b vUn 1
8 | 1E8560-61380 | SR/ —)L inm 1
9 | 1E6690-61470 Y (BT A—% 6X16 8
10 | 1E8540-61880-1 | A—F R UV A4 % A 1
11 | 1E8540-61890 A—=H RNV ALH B 2
12 | 1E8540-61920 A=K T — R A 3
13 | 7TE8645-61960-1 | "/ K2 Z Ah/N— PLI 7 1 | FLI7ahTA b
14 | 1E6403-94990 V7 hF—7 8X30 1
15 | 22857-500120 Aoy 5. 0X12 4
16 | 22857-500120 Aoy 5. 0X12 4
17 | 22857-500120 Aoy 5. 0X12 4




JRB3020 KEBFEQA—/LA—F
GTaZL FvEY

AES] B W 5 W & A FE fiE%k fii =
1 1F4124-44410 V2IVERLE 6X10 4
2 | 1A1270-58000 A= B0 1
3 | 26014-080202 BLE (ES54+3% 8X20 2
4 | 1E6690-61470 Y (E52—% 6X16 4
5 | 1E6690-61470 %Y (52— 6X16 3
6 | 1E8828-62100-1 | GT=F L7 L—L 1
7 1E3165-62200 T &= (CMP 1
8 | 1E8540-62240 F—)L 200 1
9 | 1E8645-62250-1 | GT ¢/ L 1 | FL3I7admuA b
10 | 1E8645-62280-1 | G T Sx/L R 1 | FLI74kUA R
11 | 1E8790-62301 GT/R%) ~xTAH 1 | FLIT7akTA R
12 | 26367-060002 YRV EF k6 1
13 | 1E8645-62750-1 | GT= T A7 L4 1 | FLIT7LkTA R
14 | 1E8645-62821-1 | GT =T A 1 | FLIT7LkTA R
16 | 1E8545-62940 —)L 5X22X346 2
17 | 1E8545-62950 T—J 5EX22X252 2
18 | 1E8545-62960 —J 5X20X155 2
20 | 1E8545-62970 —J) 5X20X335 2
22 | 1E6331-81250 ~ V¥ suAyh 17 1
23 | 26013080162 ALl Ok 8X16 4
24 | 26014060122 Bl (EF4+3% 6X12 2
25 | 26014-080122 B (BET4+3% 8X12 2
26 | 26014080162 AL (EF4+3% 8X16 4
27 | 1E3165-62901 GT=aT LR — 1 | FLIT7LRTA R




JRB3020 KEBHEO—ILR—F

L5y F iR
AES] B W 5 R <R (R fii
1 | 1E6570-64751 AUV T LAA—=XY 13 1
2 | 1E8560-65050 By aAld 7T F Los— 1
3 | 1E8560-65080-1 | 7 7 v F Uo7 A X 1
4 | 1E8560-65150-1 | D7 T v F7—Lh A 1
5 1E3165-65140 YXa 7277 vFUAF 1
6 | 1E6750-94690 R—AHA K G 2
7 | 22137-080000 PR (IHXx 8 2
8 | 22137-080000 PR (I Hx 8 1
9 | 22272-000120 FADUE 12 2
10 | 22272-000120 MAUE 12 1
11 | 22372-080000 2+ JASO 8 2
12 | 22372-080000 2F v FETASO 8 1
13 | 24550-015150 KSA47 w2 15X15 2
14 | 24550-015150 RSA47 w2 15X15 2
15 | 26013-080162 BBl Ok 8X16 2
25 | 22157-080000 PR (XA~ 8 2




JRB3020 KEBFEA—ILN—F
ERIL—L FrEY J4—RiRVT

AES] B W 5 R <R (R fii
1 1E6690-35500 HHH 12X28%X4. 5 2
2 | 1E8735-61850-1 | 7+ A R 7L —24 C 1
3 | 1509250000 Evsa7L—ACP 1
4 | 22217-120000 NREPHx 12 2
5 | 26014-080202 Bl (BET+3% 8X20 2
6 | 26116-121502 ALK 12X150 2
7 | 26014-080202 BRLE (EF+3% 8X20 4
8 1E9041-62150 Evima7ZL—AhREA 1
9 | 119225-52102 T 4= KR 1
10 | 26014-060162 BILE (EF4+13% 6X16 2




JRB3020 KE/BHEO—ILR—F

JL—F124E

AES] B W 5 R <R (R fii
1 1E4890-13210 | 3% 1. 2X53X11. 2 1
2 | 1E8720-63551 TL—FUAY 1
3 | 1E8380-63600 | ~3% 2. 3X15. 8X105 1
4 1E8790-63600-1 | 7L —F 77 (C 1
5 | 1E6741-63660 | 3% 20X86. 5 1
6 | 1E8790-63700-1 | 7L —F T v 1
7 | 1E8540-63753-1 | > =7 T v F &)L 1
8 | 1E8540-63950 TL—Fa vl L N— 1
9 | 1E8540-63970-1 | L /X—2F o 1
10 | WRCA06 PHR (2w 6 1
11 | DEO15 EHZ AU 15 1
12 | PC016012 JUEY 1. 6X12 1
13 | KFD05050300 ~Mayx— JarvkT 5X5X30 1
14 | 24550-020200 KSA4T v 20X20 2
15 | 26014-080162 AL (EF4+13% 8X16 4
16 | 20614-080202 B (EF4+3% 8X20 2
17 | 26367-080002 YRV XS k8 2




JRB3020 KEBHEO—ILR—F

FEIRIRE
AHER| W E B R <R (R fii =
1 | 1E6489-13800 HI— 12X8. 1X3. 5 2
2 | 1E8100-61200 TV 17 1
3 | 1E8540-63450 2y R K 8R 2
4 | 1E9430-64800 7V a7 L—hk 65 2
5 | 1E8050-64222 — ARSI YH R 25 1
6 | 1E8050-64230 PIFRR 62X16 2
7 | 1805064250 IR AH A X 65 1
8 | 1E6310-64260 2y KRRV 1
9 | 1E8790-64300-1 | L' v Y ¥ 7 74 1
10 | 1E8790-64340 g YR 1 | FLI7akTA R
11 | 1E8790-64500 Sany VTR TF 1
12 | 1E8790-64540 2y R 8X255LR 1
13 | 1E8230-64560-1 | L /3—Z | w3 1
14 | 1E8720-64590-1 | ==2— I LY LU A & 1
15 | 1E8230-64600 ANy I A H IR 1
16 | 1E8720-64600 Za—hTLT— LA 1
17 | 1E8645-64633-1 | ==— /L7 L— |k 1
18 | 1E8645-64650 =a— kTN 1
19 | 1E8790-64650 Tany VI T — A 1
20 | 1E8560-64680 Hv7 45A 1
21 | 1E8560-64690 Hv7 458 1
22 | 1E8730-64831 TYV¥AX 8LR 1
23 | 1E8060-65840 | X7 VUZ 69012727 2
24 | WRCAOS LI R abl¥ MS 1
25 | WRCAOS LI R abl¥ MS 2




JRB3020 KEBHEO—ILR—F

FEIRIRE
AES] B W 5 I < (R fii
26 | WRAOS E I AR MS 5
27 | WSAO8 NEFEHEX 327 MS 1
28 | WSAO8 NREPHx 327 MS 3
29 | WSA08 NP Hx 337 MS 2
30 | DCO15 CHH AU 27 15 1
31 | DCO15 CHHAERAD 27 15 1
32 | PS030020 Z2FVLTEY 3. 0AX20 1
33 | KFD05050180 ¥— 5X18 1
34 | DV1517015 R4 T w2 15X15 2
35 | DV1517015 KRIA T w2 15X15 2
36 | 26013-060162 BRIk ("% 6X16 5
37 | 26014-080162 ARILE (EF4+13% 8X16 1
38 | 26014-080202 AL (EF4+3% 8X20 2
39 | 26014-080202 AL (EF4+3% 8X20 2
40 | 26014-080252 AL (EF4+13% 8%X25 1
41 | BZ106025 AR 6X25 1
42 | NAOG Fv b 4 232 M6 1
43 | NAOS Fv b 4 232 MS8 2
44 | NAOS Fv b 4 232 MS8 1
45 | NAOS Fv b 4 232 MS8 2
46 | NAOS Fv b 4 232 MS8 3
47 | NAOS Fv b 4 232 MS8 1
48 | NA16150 Fv bk (EFY 16 1
49 | 26777-160002 FAF> R RV 16 1
50 | 26966-080202 FARLE (ZARI 8X20 1
51 | 1E9430-64300 F4F 25. 5X68X1K 1




JRB3020 KEBHEO—ILR—F

B 2R 1E

AES] B W 5 R <R (R fii
1 | 1IE4760-43090 JyrZAR—L BLS8D 1
2 | 1E6740-64200 JoZA—nL BLS8DL 1
3 | 1E6310-64260 2y KRy 1
4 | 1E8730-64300 TN T LR— 1
5 | 1E8730-64350 T7Yx ARy R 8LR 1
6 1E8785-64700-1 | 7/~ Y7 uvy K U=xT 1
7 | 1E8785-64730-1 | 7/ ~> Y Zm vy K X 1
8 | 1E-8060-64750 |~ Y 7 LN—=X1 1 3 1
9 | WSAOS NEPFHX 327 MS 2
10 | DEO12 AT E 12 1
11 | NAO8 Fvy bk 4 232 MS8 1
12 | NAO8 Fvh 4 232 MS8 1
13 | NAOS Fv bk 4 232 MS8 2
14 | 26367-100002 YRV EF vk 10 2




JRB3020 REBERA—ILA—T
BFouk

AES] B W 5 fii
1 1E4110-24010 FA4F— 15 3
2 | 106281-52320 X RAZRF 7 (8 2
3 | 1E8540-63450 2y K= R 8R 4
4 | 1E8540-63460 oy Rmy R 8L 2
5 1E6310-64260 2y RRY 2
6 | 1E8785-64400 BT =T 1
7 | 1E8785-64551-1 | Faz UL ” 1
8 | 1B8785-64650-1 | AF T UL TV L T 1
9 | 1E8785-64770 75 AFLry K FR 1
10 | 1E8785-64790 Z7AF Loy R T 1
11 | 1E8785-64800 LA T—2 100 1
12 | 1E8785-64820 7—2A 100 2
13 | 1E8785-64850 FarT—n 70 1
14 | 1E8735-64880 oy R 8X140LR 1
15 | 1E8785-64890 oy R 8X168LR 1
16 | WRCAOS LI HR ab¥ MS 6
17 | WRAOS E I F MS 4
18 | WRAL0 eI R M10 2
19 | WSA10 NREPFHx 327 M10 2
20 | DCO12 CHHENAD Y7 12 1
21 | DC025 CHHENAD 27 25 1
22 | KFD05050150 ~MavX— JgvkT 5X5X15 1
23 | J6002LLU R—A_XTU27 6002LLU 4
24 | 26014-080202 AL (BEZ4+3% 8X20 4
25 | 26014-080252 AL (EF4+13% 8%X25 6




JRB3020 KEBHEO—ILR—F

BEOVR
13746

REES| B & F 1 O I <IN e
26 | BZ08030 ALK 8. 8 M8X30 1
27 | Naog +vb 4 2va M8 2
28 | NAog Fv b 4 2va M8 4
29 [ NA10 FvbF 4 2va M1O 2
30 | 26966-080202 | FARLE (ZARI 8X20 1




JRB3020 XKEBFEO—/ILR—F

o=

RHES| 5 oL’ g i 4 B &% i
2 1E6690-03140 JA¥—hr AN K 300 3
4 1E3130-66250 Hrar7530Y E 1
5 1E8780-66280 B g R—A 1
6 1E8420-66550 TV AR—A 06—1440 1
7 1E8730-66320 RLoyd—2Z 6—-202 1
8 1E6681-66370 ARL—F CMP 1
9 1E8235-66380 HR— AR T L 1
12 | 1E8820-66400-1 | A—AH— K 1
14 | 1E8720-66450 axsBxG6 1,/2—1,/2 1
15 | 1E8230-66460 FyFT )R 1,/2—3,/8 1
17 | 1E6680-66470 ¥R 3,8 1
18 | 1E8420-66600 TV ER—A 04—2200 2
21 | 1E9040-66610 a7YAR—A 04—1035 1
22 | 1E9040-66630 a7YER—A 04—1165 1
23 | 1E8130-66770 HFyFXT LR 1,/2—20 1
26 | 1E6030-67030 90° /LR 4
27 | 1E6030-67030 90° /LR 4




JRB3020 KEBHEO—ILR—F
R

137491

RHES| & ah & 5 S T T < B EE

30 | 1E6680-79750 75 FaN 19 1
31 | 1E8680-77180 HoxV—h 280X150 2
33 | WS06 WA TR 297 M6 3
34 | 23000-028000 m—A7 Vw7 28 1
35 | 23000-028000 R—A7 Y7 28 1
36 | 23000-035000 BR—=2A7 Vw7 35 1
37 | 23000-035000 R—=27 Vw7 35 1
38 | ORP0O20 o7 P—20 1
39 | 26014-080162 BLh (ES5+3% 8X16 5
41 | BZ06040 AL 8. 8 M6X40 3




JRB3020 XKEFHEO—ILR—F

% (HST (FvE>

AHER| W E B T I < i iz fifi
1 | 1E8730-66301 27 VAR—A 08—420 1
2 | 1E8785-66330 |27 YAHE—Z 08—470 1
3 | 1E8560-66350 HP7 4% ASY 1
4 | 1E8560-66360 |~ K ASY 1
5 | 1E8560-66370 | =L Axh ASY 1
6 | 1E8730-66350 |=v7/ 1,2 1
7 | 1E8560-66400 | HwFx AR 3,/4—1,/2 2
8 | 1E8230-66621 RLoA—RZ 6—89 1
9 | 1E8440-66620 RLydB—R 6—77 1
10 | 1E8361-66750 | AT —F 1
11 | 1E8361-66801-1 | 7 —F AR/L& D)
12 | 1E6680-79750 75N 19 1
13 | WRAOS EIYPHFR MS 2
14 | WSA08 NEPFHxX 327 MS 2
15 | 23000-028000 m—=2A7 Vw7 28 2
16 | 23000-035000 m—2A7 Vw7 35 2
17 | 26014-080162 AL (EF+3% 8X16 4
18 | 20614-100202 B (E54+23% 10X20 2
19 | 26647-080202 FauRLE 8X20 2




JRB3020 KEBHEO—ILR—F

INLTD
137311
AER| B & 5 = AT} £ PR %% {irg
1 1K1140-66011 L7 CV6—YWH 1
2 1K1140-66040 IIVT R A H 2
6 1E8990-66350 INVTHTTa5A( U 1
7 26014-080202 ALE (EZ4+3% 8X20 4
8 26014-080252 AR (BEZ4+3% 8X25 2
9 26367-080002 oYXy b8 4
12 1E3165-66480 PNV T IR DN 1




JRB3020 KEBHEO—ILR—F

ATYvITIL—Ls

AES] B W 5 R <R (R fii =
1 1C6053-32020 HHH% 8. 5X20X3. 2 11
2 | 1E8735-68000-1 | Ry o7 L—L 1
3 | 1IE8785-68150-1 | AT v F 7L —LA A 1
4 1E3165-68250 AT S H3— (CAB 1
5 | 1IE8640-68321-1 | AT v F A/ N\— AT — 2
6 1£8645-68330 HN—=AT7— (CAB 1
7 1E8785-68350 AT S N— T 1 FLITARTIA b
8 | 1E8645-68460 AT v TA R 1
9 | 1E8785-68600 Ao H T AT — A 1 | FLIT7LRTA R
10 | 1E8785-68610 UF v H LT AT— B 1 | FLI7akTA R
11 | 1E8795-68752 AT v 7= b 1
12 | 1E8825-71850-1 | A"z 7 7 L —.L 1
13 | 26013-080252 Bl O% 8X25 11
14 | 26014-060122 Bl (ET4+3% 6X12 5
15 | 26014-060162 AL (EF94+13% 6X16 4
16 | 26014-060162 AL (EF94+13% 6X16 2
17 | 26014-060162 AL (EF94+13% 6X16 5
18 | 26014-060162 AL (EF94+13% 6X16 2
19 | 26014-080202 AL (BEZ4+3% 8X20 6
20 | 26014-100252 AL (EF94+3% 10X25 3
21 | 26367-060002 YRV XSy k6 2
23 | 1E3165-68401 AT S HR— vz L 1 | 7LIT7LkTA R
24 | 1E3165-68470 ¥y bErvwxzi—h 1
25 | 1E3165-68450 v—hEAHYxT F 1




JRB3020 KEBHEO—ILR—F

ATYIIL—L

137141

iE
m175
=
%
O | ©
ﬁﬂ — | —
X | X
O | ©
o5
| N
LI5S
NN
BT+
HIN{IN
Bl A
N
L L) L
22
NESIKS
E@O22
© | O | O
mm_mA..ll
VN D | 2D
OO | O
DD_OO
of| || |
O || <
o= = =
ol | S| S
MO O
— [N N
e
K|l o =] 00
N[N | N
ues




JRB3020 KE/BHEO—ILR—F

*vEURE

AES] B W 5 R <R (R fii =
1 1E8385-68260 PFHR 12. 5X55 2 | FLITLERTA b
2 | 1E8385-68270 PHR 16. 5X65 2
3 | 1E8385-68280 A= ) e 9 | 7Li72moA
4 | 1E8385-68311 Y 20xX134 2
5 | 1E8385-68500-2 | R v AL AT — 2
6 | 1E8385-68550 == N E i Ny A= I 9
7 | 1E8385-68561 VST HERT T 2
8 | 1E8385-68570 HT— 15X22X%X46 2
9 | 22137-140000 PR (X 14 2
10 | 22217140000 NRYPEH xR 14 2
11 | 22351-100020 277y 10, 0AX20 1
12 | 26014-100252 AL (EF94+3% 10X25 8
13 | 26116-140702 AL 14X70 2
14 | 26717-120002 Fvh 12 8
15 | 26717-140002 Fv b 14 2

— 100 —




JRB3020 KE/HEO—ILR—F

FBERTVT

AES] B W 5 o & PR (R fii =
1 1D4071-43300 PFHA 12X26X3. 2
2 | 1F4211-43720 NRFx 11. 5X85 2
3 | 1A1140-58050 AH R =X 1
4 | 1E6150-61310 HA KA R w/3—2 A 2
5 | 1E8540-66770 HT— 8X12X8 2
6 | 1E8645-68500 HATalLAi— ASY 1
7 1E8645-68540 HoN— (FA T3 L/3— 1 FLITLKRTA R
8 | 1E8645-68550 LR— AT — I | FLI7ahTA b
9 1E8645-68570-1 | =&)L H A K 1
10 | 1E8645-68600 ay ) uREIL 1
11 | 1E8560-68630 _E TR 1
12 | 1E8560-68650 HT 1
13 | 1IE8645-68650-1 | L >/ T —Ah~v=T 1
14 | 1IE8645-68670-1 | L' /Y 7 —AL7T k 1
15 | 1E8560-63700 Loesrvasy R 1
16 | 1E8645-68700 ARE I — )L 1
17 | 1E8560-68740 ALY/ 1
18 | 1E8560-68750-1 | A Ko7 —XA 1
19 | 1E8560-68770-1 | L'/ 7 —A 1
20 | TE8560-68800-1 | R"F¥ g X— PLI 3 1
21 | 1E8640-68850-1 | ¥ RAT v W 1
22 | 1E8255-95880 Ty 7 N 1
23 | WRCAOS LA R abl¥ MS 2
24 | WRCA12 PHR (a<wn 12 8
25 | WRCA12 PHR (a<wn 12 2

— 101 —




JRB3020 KE/HEO—ILR—F
BTV

AHES | # dn & # ZAR Ml %% i
26 | DE010 ENZ AU 10 10
27 | PC025016 JJEY 2. 5X16 2
28 | 26014-060162 | ARk (ET7+/3% 6X16 2
29 |26014-060162 | ALk (EF+/3% 6X16 2
30 |26014-080202 | AN bh (EZ+/3% 8X20 2
31 |26014-080202 | Ak (EF+/3% 8X20 1
32 |26014-080202 | ANk (EZ+/3% 8X20 2
33 | NA1O Fvh 4 2v=2 M1O 1

— 102 —




JRB3020 AHEBER—/ILA—F
=R RS —h

AES] B W 5 R <R (R fii
1 1D4220-51340 ALk (Zmr 8X20C 4
2 | 1D4220-51340 ALR (Zmr 8X20C 4
3 | 19829063150 L— (L 1
4 | 198290-63160 L (R 1
5 | 17215664420 'y (8—195 1
6 | 1IE9572-68401 —Fk 1
7 | 107230-41020 AT — (—Fk 1
8 | 1A7781-63120 v—F CMP 1
9 | 26013-080162 ALk O 8X16 2
10 | 1E9575-68401 =K MUY 1
11 | 1E8665-68550 r—A (w=a2T )L 1
12 | 1E9575-68600 A 1
13 | 1E6C55-69350 Z71—A (—F A 1
14 | 1E8645-69371-1 | 7L —2A4 (3 —F B 2
15 | 1E8940-69990 Ih (TT 2
16 | 1E8385-79310 Ty (8 4
17 | 22372-080000 2FV I (JASO 8 2
18 | 26014-080162 AL (E94+3% 8X16 2
19 | 26367-080002 YR XY~ (M8 4
20 | 26367-080002 YR XY~ (M8 2
21 | 26367-080002 YAV F Y R (M8 4

— 103 —




JRB3020 KEBHEO—ILR—F

07 [EF
AHER| W E B T I < i iz fifi
1 | 1E8230-32740 —I 20X20X70 1
2 | 1E8540-68151-1 | AA—F > VU ¥ 1
3 | 22137-100000 PHX (IHF 10 3
4 | 22360-100000 2Fw 7 10 1
5 | 22417-200160 JUEY 2. 0X16 2
6 | 22487-100200 EIT7XA<EY 10X20 1
7 | 22487-100500 EST7X~EY 10X50 1

— 104 —




JRB3020 KEBHEO—ILR—F
Sy a BT

AES] B W 5 R <R (R fii
1 1E6690-35500 HHH 12X28%X4. 5 2
2 1E8730-72200-1 | ¥ H R 56 X5 6 1
3 | WRAl4 EZ T xr M14 4
4 | WSs12 NREPHx 12 2
5 | WS14 NEXYPHF 14 4
6 | 26014-120302 BLR (EF4+3% 12X30 4
7 | BZ12180 ALE 8.8 M12X180 2
8 | BZ14150030 AL (BY 14X30 4
9 | NA1O Fy bk 4 232 M1O 2

— 105 —




JRB3020 KEBHEO—ILR—F

cSovoIL—L boyo0—5, /2545, JA—5HA(K, T4, ATA4 vk

AES] B W 5 R <R (R fii
1 | 7E8380-73100 Nowvsm—o B ASY 10
2 | TE8380-73250 Nowru—7Y7 ASY 10
3 | 1E8361-35430 | «X7r VU727 6206R 20
4 | 1E8255-73030 HT— 31X40X%X34 10
5 1E8255-73040 PHA 16. 4X40X%X8 10
6 | 1E8255-73060 =) 40X62X12 10
7 | 1E8255-73070 SIAY—7 30xXx40%X17 10
8 | 1E8255-73080 Ry hn— T 1 10
9 | 1E8100-73100 n—7% ¥ v 7RV KA 10
10 | 1E8380-73250 "o ra—o7 10
11 | 1E6910-73540 TYAXy v 10
12 | DHC062 CHEZNAT TF 62 10
13 | GNAOGF JYV A= A M6F 10
14 | NBH16150 ZruaFfy bk (KY 16 10
15 | NA16150 FTv bk (Y 16 10
16 | 1E8255-73011 NFwvrm—7 B 10
17 | 1E8080-54460 AU ZT78 (VN 62 2
18 | 1E8255-73020 cNFvrm—7v7 B 2
19 | 1E8255-73030 HT— 31X40X%X34 2
20 | 1E8255-73040 PH%x 16. 5X40x%X8 2
21 | 1E8255-73060 =) 40X62X12 2
22 | 1E8255-73070 SIAY—7 30X40%X17 2
23 | 1E8255-73080 Ry Nn— 71 2
24 | TE8235-73291 A4a74% ASSY 4
25 | TE8235-73550 rNoyvorma—7Y7 E ASY 4

— 106 —




JRB3020 KEBHEO—ILR—F

cSovoIL—L boyo0—5, /2545, JA—5HA(K, T4, ATA4 vk

AES] B W 5 R <R (R fii
26 | 1E6820-73230 —IKCY 25 52 10 8
27 | 1E8235-73551 Novra—57 4
28 | WS16 NPT E 16 8
29 | DHC052 CHZNAD TF 52 16
30 | KFB05050200 X— (BZ~<L 5X20 8
31 | J6205 R—A_XTVUL 7 6205 8
32 | GNAOGF JY A= 7 A M6F 4
33 | NBH16150 Z7uatfvh (KY 16 4
34 | NA16150 Ty bk (BFY 16 4
35 | 1E6820~73200 cZvsn—> 150 8
36 | 1E8255-73251 AT T7—L 225 2
37 | DHC062 CHEZNAD TF 62 4
38 | J6206 R—L_XTV7 6206 4
39 | NBH16150 7ruaFfyh (KY 16 2
40 | NA16150 Ty KV 16 2
41 | 1E3100-73401 sua—IH4 K 315 2
42 | 1E8730~73460 sua—7 504 KA 2
43 | 1E8730-73480 sua—7H4 KB 2
44 | WS16 NREPH % 16 16
45 | BZ16150025 AL (RY 16X25 8
46 | BZ16150055 AL (Y 16X55 8
47 | 1E8540-73361 | > —/LHR— 91 2
48 | 1E8730-73010 | A7 w4 v~ 7TX173 2
49 | 1E6740-73720 | Uwv iy 24. 5X50X8 2
50 | NA24200 Fv bk (Y 24 2

— 107 —




JRB3020 KEBHEO—/ILR—F X Co .
cSovoIL—L boyo0—5, /2545, JA—5HA(K, T4, ATA4 vk

RHES| & ah & 5 S T T < B (EES

51 | 26777-240002 cAFw b (Y 24 2

53 1E8255-73070 SIAY—7 30X40X17

54 | 1E8380-73050 ~T U KA

55 | 1E8255-73080 RNy dii— 71

56 | 1E8369-73020 TA RV

57 1E8255-73060 =) 40X62X12

58 | WS16 AxFHx 16

59 | DHC062 CHENAT TF 62

60 | 23414-160000 NyFr (v 16

61 1E8361-35430 X7V 6206R

62 | GNAOGF JIV A=) A M6F
63 | NBH16150 7ruryh (Y 16
64 | NA16150 Fo bk (Y 16

65 | 1E8369-73010 TARKZ7 260

66 | 1E3160-73310 TARZAH4)L R

67 | 1E3160-73300 TARTZAHA)N L

68 | 1E8780-73030 TovaryAkRrh 325

69 | 1E8380-73020 AAF v h M14

70 | NAl4 Ty h 4 22 M14

71 1E8380-73040 TARTT Y arvly

72 1E6140-54720 Uviy 15X40X6

73 | 22360-060000 AFw T 6

74 | 22487-060400 EIT7HvEY 6X40

DO DD DD DD W (DD (DO [DD DD WD DD W [DO | W [ WD DO

75 | 26014-080162 ALk (BEZ+2% 8X16

— 108 —



JRB3020 XKEBFEO—I)LR—F
Fr)70—5

RHES| & ah & 5 S T T < B (EES i
1 TE8235-73600 F¥yUT7r—7 ASY 2
2 TE8235-73541 n—7Y7 ASY 2
3 1E6050-63110 #Z7— 10. 5X28X3. 2 4
4 1E6460-73061 STAY—7 20 25 13 2
5 1E6310-73130 77— 20. 4X25X18 2
6 1E6470-73200 n—7<0TU X 2
7 1E8235-73540 a—7Y7 2
8 1E8450-73770 A K7L —F (—v 2
9 1E6570-73880 v—/VKCY 25 42 8 2
10 | DHCO42 CHERNAT TF 42 2
11 | J6004 X7V #6004 4
12 | GNAOGF IV A=v7 A M6F 2
13 | 26043-100252 AVEARY (% 10X25 4
14 | 1E8235-73501-1 | ¥+ U7 r—>7 120 2

— 109 —




JRB3020 AEBEA—/LA—F
AT B

AES] B W 5 R <R (R fii
1 1E8445-73000-1 | AA ¥ 77 —2Lh <= L 2
2 | 1E8445-73020-1 | AA » 77— ~= R 2
3 | 1E8235-73090-1 | AA v T F L A K )L 2
4 | 1E3160-73771 Ty 2
5 | 1E8080-73780 XA R —)L 50 8
6 | 1E8255-73870-1 | AA—LAH =¥ T A 4
7 1E8322-73880 HZ R —)L 60 8
8 | WRA14 ETHAR M1 4 16
9 | Ws14 NEXYPFHFR 14 20
10 | DV2023030 RS 72 20X30 4
11 | DV5055030 R4 7 v =2 50xX30 8
12 | DV6065030 RSA47 w2 60X30 8
13 | 24761-060000 7YV 2=y 7 MT6 X1 8
14 | 26013-100352 ALk ("% 10X35 8
15 | 26156-140302 ARLE (RY 14X30 12
16 | 26156-140402 ARLE  (RY 14X40 8
17 | 1E3160-73100 smu— 400X52X90 2
18 | 1E3150-73100 AT TURAE TR L 1
19 | 1E3150-73110 AT TUAE LR R 1

— 110 —




JRB3020 KEBHEO—ILR—F

ALY

AES] B W 5 R <R (R fii
1 1E8380-73260 Lo vay Rvx 2
2 | 1E8235-73330 HI— 12X8X4 8
3 | 1E8235-73351 T 8
4 | 1E8780-73651-1 | UFO> U 4 L 2
5 | 1E8730-73700-1 | L'> A my R m L 1
6 | 1E8380-73740 T ATy b 2
7 | 1E8730-73750-1 | L'>Z Yy R m R 1
10 | 1E8380-73910 vk M24L 2
12 | 26019-080162 R (FA<LA2—s% 8X 16 8
13 | NA24200 Fv bk (KY 24 2

— 111 —




JRB3020 AEBER—/ILA—F
IOV —LB

14075
AES] B W 5 R <R (R fii =
1 | 1K1091-22830 saxvy b A 2
2 | 1E8230-75771 Ry —L 420 1
3 | 1E8720-75800 —)L 5X15X470 2
4 | 1E8785-76000 | —LAT7 L—LA 1 | FLI7ahTA b
5 | 1E8645-76730 T hi—L 1
6 | 26014-060162 BLE (ET4+13% 6X16 3
7 | 26014-100202 AR (EF+3% 10X20 4
8 | 194990-22130 FTA (A= 6 8
9 | 1E6910-28910 | A Z3% 100L 1
10 | 1E8785-76630 PHER 20X449 2
11 | 1E3165-76670 ELy 7Y 7L—Ah 7T 1 | FLI7abkuA b
12 | 1E8785-76680 | A—Am vy —L 7T 1
13 | 1E8785-76690 | L—Am b/ N— ¥ 1 | FLI7abuA b
14 | 1E8785-76710 | L—ALw i —Li ¥ 1
15 | 26014-080162 AL (EF4+13% 8X16 2
16 | 26014-080202 AL (BEZ+3% 8X20 6
17 | 1E4124-44410 V2IVERLE 6X10 2
18 | 1E3165-76680 E7L—AFL—h 1
19 | 1E8785-76750 | L—Ld a2 —/L 1
20 | 1E8785-76800 TR T R— 1
21 | 1E8235-77950 |EF—/L' K 135 2
22 | 1E3165-79500 25 —CP 1
23 | 26014-060162 AL (EF94+13% 6X16 2

— 112 —




JRB3020 REFEQA—/LA—F
IO —LFN—

4

AHES | # dn & W dn 4 Ml %% i
1 | 1EB785-75600 | ¥=2wFH U b 1
2 | IE8645-75770 | —iA Y= 1
3 | 1E8645-75780 | By Ry —/L 2
4 | 1E8645-75790 | ATV —/ 1775 1
5 | 1E8645-75800-1 | 7 v =7 /3 1
7 |26014-060122 | ANk (EF+/3% 6X12 2
8 |26014-060162 | ALk (EF+/3K 6X16 14
9 ]26014-060162 | HA/h (ET+/3% 6X16 2
10 | 26014-080162 | Ak (ET+3% 8X16 2

— 113 —




JRB3020 AEBERA—/ILA—F
IO UIIL—L

14064
RHES] W & B W %/ﬁ [ [
1 1E8645-75001 TP —n0 (C 1
2 1E8645-75431 ElV—AUT44% A 1
3 1E8560-75501 NSNS DIV Sy fa 1
4 1E8645-75550 Jo— I B T IN— 1
5 1E8560-75630 v—)L 1 0X15X685 2
6 1E8560-75630 v—J) 1 0X15X685 1
8 1E8640-75950 v—)L 20 4
9 1E8645-75950 v—) 3X15X110 2
10 1E8645-75960 v—) 8X15X200 2
11 1E8230-75980 77— 6X10X3. 5 2
12 1E8560-76150 J—AL VAKX 1
13 26014-060162 AR (BEF4+43% 6X16 3
14 26014-060162 AR (BE43% 6X16 7
15 26014-060162 AR (BE43% 6X16 4
16 26014-080162 AR (BEF43% 8X16 1
17 26367-060002 IRV F v 6 7

— 114 —




JRB3020 KEBHEO—ILR—F

IO UERRAAN—
AES] B W 5
1 1D2040-15480 L= = = 1
2 | 1E6680-38480 A= 5 1
3 | 1E6680-38480 AX—Y 5 1
4 1E8560-75180 HFHx 8. 5X28X3. 2 2
5 | 1E8645-75300 0y 2T —ATF A 1
6 | 1E8645-75320 Oy 7T —h3T Y B 1
7 | 1E8645-75340 a2y T — A 1
8 | 1E8645-75360 7 L— 1
9 | 1E8645-75380 Loy vey KA 1
10 | 1E8645-75410 Oy LN—L A K 1
11 | 1E8645-75420 Lorymy R 1
12 | 1E8785-68450 EN—ALNA ROvT v 1
13 | 1E8785-75470 EL—LHA RUT—Lh <= 1
14 | 1E8785-68480 EL—bHA RUT7—2A Tk 1
15 | 1E8255-95880 T 7 SR 1
16 | WRCA06 PHR (<L 6 2
17 | WRCAOS LI H R abl¥ MS 1
18 | WRCA10 eI FR al¥ M10 1
19 | WRAL2 eI R M1 2 2
20 | 22372-120000 2F v FELTASO 12 1
21 | PS030016 277y 3. 0AX 16 1
22 | PC016018 JUEY 1. 6X18 2
23 | PC020020 JUEY 2. 0X20 1
24 | PC025025 JUEY 2. 5X25 1
25 | 26014060162 AL (EF94+13% 6X16 3

— 115 —




JRB3020 KEBHEO—ILR—F

IO UERRAAN—
e I T e il i 4 R %k T
26 26014-080162 AILE (BES+1% 8X16 1
27 26014-080202 AR (BEF4+3% 8X20 2
28 26014-080202 ALk (BEZ4+3% 8X20 1
29 26367-060002 VXY XF N 6 2
30 26367-060002 VY XF N 6 2
31 26587-080302 N RRY (+7F 8X30 1
32 26717-080002 =/v a2 1

— 116 —




JRB3020 KEFEA—/ILA—F
FrEY IL—D. XKH

14065-1

AES] B W 5 R <R (R fii
1 19420561250 NRyFy (Roxy hery 4
2 | 172187-63160 7V w7 6
3 | 1E8545-77000 Xy ELL—7 1
4 1E8545-77010 — b (FrE—7 1
5 | 1E8385-77020 v—bh (b—7, K7 1
6 | 1E9045-77020 FUTT YN 1
7 | 22157-080000 IR (XA~ 8 4
8 | 26106-080252 YRR 8X25 4
9 | 1E9265-39420 ax I —)L 1
10 | 172162-62540 = (RTFvS 1
11 | 1E9535-77040 A>F—Hh N "— F 1
12 | 1E8545-77052 A2 F—H"— R 1
13 | 1E8545-77060 — (FUYIYFLUY 1
14 | 1E8545-77070 — T VAT LE 1
15 | 1E8545-77080 —F I LR 1
16 | 1E8545-77090 =T VI TR 1
17 | 1E8545-77100 =T av 1
18 | 1E8545-77110 —) (FUrYIYFLwT 1
19 | 1E8545-77120 —)  (FUYITFR 1
20 | 1E9535-79480 —J 30X50X150 1
21 | 1E9535-79490 Ry i— A 1
22 | 198010-85810 Uy~ (A rr 21
23 | 1E8560-93870 —J) 20X20X557 1

— 117 —




JRB3020 KEBHEO—ILR—F

FrEroOy
AES] B W 5 H 4 FF (R fii
1 172137-69850 NARRY (U= 5
2 | TE8785-78551 Zur¥Fyrr CMP PLY 73 1
3 1E8645-79030 —F (Fyrrver A 1
4 | 1E8645-79040 —hk (Fytr7nr B 1
5 | 22157-080000 A A(HA~ 8 19
6 | 26013-080162 BLR ON% 8X16 14
7 | 26014-080162 ARLE (EF+13% 8X16 3
8 | 26367-080002 YRV EFw b8 5

— 118 —




JRB3020 A& BEA—)LA—F
FrEy BE. FvEY F7.35—

AES] B W 5 R <R (R fii
1 17273261420 raAvy b (7Y% 30 2
2 | 172137-69651 HT AN T — 5
3 | 17217669820 77— (7 A 14
4 | 172137-69840 | A K%Y Zn 8 5
5 | 1A6150-76740 suaAyh 31 1
6 | 1E8385=79100 | Sv ¥ (BT — 14
7 1E8385-79110 cJA (Zr> v HTZ7A UD 2
8 | 1E8385-79192 Y57 A 1
9 | 1E8385-79220 (=2 2
10 | 1E8385-79250 | ~Xx—Z (/> R/ CMP 1
11 | 1E8385-79280 B. K (¥>/% CMP 1
12 | 1E8385-79310 FHx 8 5
13 | 1E8385-79320 J >k CMP 1
14 | 1E8385-79341 Zo— (UXYHT A 1
15 | 1E8385-79350 | Sy Fx v (U¥HT A 5
16 | 1E8545-79441 Tay v HTA (F 1
17 | 1E8545-79451 7ay v AT A (L 1
18 | 1E8545-79461 7ary v T A (R 1
19 | 1E8545-79470 FUA (> HFA S 2
20 | 1E8545-79492 ~kK L CMP 1
21 | 1E8545-79501 ~FK LFEHTA 1
22 | 1E8545-79511 ~kK LRHTA 1
23 | 1E8645-79500 = (V¥ HT A 1
24 | 1E8545-79520 FHrTL (= F L 1
25 | 1E8645-79520 % 2

— 119 —




JRB3020 A& BEA—)LA—F
FrEy BE. FvEY F7.35—

AES] B W 5 R <R (R fii
26 | 197821-82821 A =2 R B 1
27 | WRAO6 I * M6 4
28 | 22372-060000 ZAF v T 6 4
29 | PC020020 JUEY 2. 0X20 2
30 | CM05020 PT7axy (+7F 5X20 2
31 | CM06020 +HTFa XY M6X20 14
32 | 1E8385-77020 — (b—7. R7 1
33 | 1E8545-79052 $ 4 K7 CMP 1 | xqe—2r1—
34 | 1E8545-79330 ~kK R CMP 1
35 | 1E8545-79340 HIA ~F R 2
36 | 1E8545-79350 FHxz=a2 (¢ KR 1
37 | 1E8545-79371 H7 A (FT 1
38 | 1E8545-79380 Az n (RT7&VY 1
39 | 26014-100252 ALkl (EF94+23% 10X25 4
40 | 1K1130-28850 | Nw 7 I T — 1
41 | 1E8255-77950-2 | Ny 7/ 2 T — AT — 1
42 | NUOS UJ)> h M8 2
43 | 172137-69840 | SA K%Y a8 2
44 | 172312-17250 Twva A 1
45 | 26577-050122 HF7axy (+7F 5X12 3
46 | 1J3999-00320 BCHR/LF (A—Smv”7 10X25 2
47 | 1E8545-79391-1 | 7 AU CP 1

— 120 —




JRB3020 KEBEA—IILA—F
FrEy g

AES] B W 5 H 4 FF (R fii =
1 1A1380-51700 L e 4
2 | 1A1380-51700 awZNNag e 4
3 | 1E6690-61470 %Y (B 2—% 6X16 6
4 | 1E8385-79360 A5 (7L —AR 1 | FLI7ahTA b
5 | TE8645-79400 HNX—= (¥—F2T72 CMP PL 1 | FLI7ahTA b
6 | 1E8545-79410 ~v—7 (X7 +XV =T 1
7 | 1E8545-79420 | /ST & 1 | FL3I7abmuA b
8 | 1E8545-79430 ) (RRALTH 1
9 | 1E8785-79540 VAESY SR 2
10 | 1E8545-79550 #H128%— (COND CMP 1 | FLI7adkuA b
11 | 1E8545-79570 ~ kK (COND 1
12 | 1E8385-79580 v —/L (CONDH/"— 2
13 | 1E8545-79580 v —/L (CONDH/R—S 2
14 | 1E8545-79590 7 IR b 1
15 | 26014-060122 Bl (ET4+3% 6X12 3
16 | 26023-040162 FRaRxy (B7+1R 4X16 4
17 | 26023-060162 FTRaxy (E7+1% 6X16 4
18 | 26052-060002 Fvh (T3 6 4

— 121 —




JRB3020 KEBEA—ILA—F
FreEy Ovy

AES] B W 5 R <R (R fii
1 194273-47910 J 7 (PDX VAT /3— 1
2 | 17216269750 N 1
3 1E8385-79020 Z7FIL (FrvTF 1
4 1E8545-79220 AR—H (K7 F v v F 1
5 | 1E8545-79251 R7 %% >vF CMP 1
6 | 172117-69640 TA AL 1
7 | 172117-69650 | /Sy F 1
8 | 172117-69660 | 23 /3T 3— 1
9 | 172117-69670 Xy v TF¥—AAL 1
10 | 17211769690 ) Txx T 1
11 | 1E8545-79260 PhHx 34X3. 2 1
12 | WS05 NEYPHx 247 M5 3
13 | CP05020 FRaxy (+7F 5X20 3
14 | NAO5 Fv b 4 232 M5 3
15 | 1E8545-79270 Th (N R 1
16 | 1E8545-79280 TL—k (R 1 | xqe—2r1—
17 | 1E8545-79290 7 LR— 1
18 | 1E8545-79310 HR— (a7 1 | %=1 —
19 | 198153-82400 TR —N RV (KT 1
20 | 198153-82461 HA Vg LAi— R 1
21 | 198153-82470 | Rw ¥ (N R A 1
22 | 198153-82480 | /fvw ¥ (N K B 1
23 | 198255-82510 F7mevy”Z R CMP 1
24 | 198255-82680 R7ray 7 2RI 4H 1
25 | 198255-82700 | Ny X P H R 8 2

— 122 —



JRB3020 KEBEA—ILA—F
FreEy Ovy

AES] B W 5 R <R (R fii
26 | 198255-82750 BCH#Z7xY 8%25 2
27 | 198010-85810 U~y b 4
28 | WRAOS e HEx M8 1
29 | WSo8 VA SV v S 1
30 | 26014-060162 BLh (ET4+13% 6X16 1
31 | 26014-060162 BLE (EF4+13% 6X16 3
32 | 26014-060162 ARILE (ET9+13% 6X16 2
33 | 26023-060162 FRaRxy (EZ7+13% 6X16 2
34 | 26052-060002 Ty b (T3 6 1
35 | NAOS vk 4 232 MS8 1

— 123 —




JRB3020 KE/FHEO—ILR—F

FrEVEE ()

AES] B W 5 R <R (R fii
1 172164-17200 EF—& (UA/% 80 1
2 | 1E8385-79530 | 7F AL () AN A"ALTF 1
3 1E8545-79680 | ~—27 (U A/%— SW 1
4 1E6750-81802 | ~> K77 (2 0W) 2
5 | 194081-55820 FoXary 12V, 20Uy b 2
6 1E6680-84710 A v ¥Hr7 (CMP 1
7 | 1E8450-84760 T AT — A 1
8 | 1E8450-84770 ZL—FR 1
9 | 197821-85430 T A I8— A »F 1
10 | 197820-88750 | /v—AF 27 CMP 1
11 | 197820-88770 Fo¥ay 12V, 8W 1
12 | 197820-88780 IS 1
13 | 1E6300-96270 m—=2A7 Vw7 6 2
14 | 23061-043000 =47 4X3000 1
15 | 26022-050162 F_Raxy (R 5X16 1
16 | 26023-050202 FRaxy (EZ7+23% 5X20 2
17 | 26023-060162 FTRaxy (E7+1% 6X16 3
18 | 26367-050002 YRV XSy k5 2
19 | CM08016 HF7axy (+7F 8X16 2
20 | 933113-15800 TF vy ) A 1

— 124 —




JRB3020 KEBFEQO—/LA—F
FrEVEE(2)

\

N\

— A

Lo

6(7)(8)

........................

N—RREEM
AES] B W 5 R <R (R fii =
1 194555-51210 suAyh 35 2
2 198461-52950 CAVL— (CHAT 1
3 | 1A1380-55310 IAY—0 T 8
4 | 1E6682-61230 ILTuaAAyh 20 1
5 | 1E8545-79602 Xy B n—xR A 1
6 | 29420-050000 t=2—2 B 5 1
7 | 29420-150000 E=—2 B 15 2
8 | 29420-200000 E=—2x B 20 1
9 1E8235-84910 AA4A—FK 090 (3A 1
10 | 1E8545-79610 HN— (Fx B N—FRA 1 | FLI7LKRUA B
11 | 1E8545-79620 HN—F—)L (CAB/N—FA 1
12 | 1E8545-79630 suRxy NAYT (FybEr 1
13 | 1E8545-79660 27— (Ea—RAKRy 7 A 1
14 | 1E8545-79670 ta—AXAALN (CAB 1
15 | 1E6910-82500 JI— CA—1A (u¥%a”Z) 7
16 | 1E6480-84260 IN—RA 1 1
17 | 198010-85810 JRASVAN 6
18 | 26014-060122 ALl (EF4+3% 6X12 1
19 | 26014-060122 AL (EF4+3% 6X12 2
20 | 26014060122 Bl (EF4+3% 6X12 1

— 125 —




JRB3020 KEBHEO—ILR—F

CDZo#

AES] B W 5 R <R (R fii
1 1E6690-61470 3 (%A% 6X16 2
2 | 172137-69850 XY (N R 2
3 | 1E8545-79320-1 | BK (7> 77 1
4 | 1E8545-79400-1 | 27— (¥ 7F CMP 1
5 | 1E9535-79410 CDZ VA —FA 1
6 | 1E9535-79420 A —H T 73— 2
7 | 1E9535-79430 A —HIN—F A 1
8 | 1E9535-79450 27— (CD CMP 1
9 | 1E8545-79641 770y h (TUF 1
10 | 198094-86870 T 7F CMP 1
11 | 1A8110-86910 T 1
12 | 198255-86920 By R 8
13 | 1A8110-86920 A E—T 2
14 | 198255-86930 Fv b (A=K 8
15 | 22137-050000 PHR (I HF 4
16 | 22217-080000 PHR (% 2
17 | 26014-060162 ALk (B 4
18 | 26022-050102 FRaxy 4
19 | 933168-56000 JuaAy b 17X9 1

— 126 —




JRB3020 KEBFEA—/LA—F
FrEVL—IL O

AHE S

W & 5

S T T < B

1E6690-61470

XY (BEZA—% 6X16

1E8645-79600

—)b (CAB7 bk

1E8645-79610-1

A7— (—/VCAB7 K CMP

1E8545-79700-1

HiR—% (GT—/L CMP

1E8545-79710-1

AT —=A(GTT—/ T X

1E8545-79731~1

A7— (GTY—/ a7 CMP

1E8545-79780

v (GH 7

1E8545-79800-1

A7— L (CONDY—/

Nel ool RNl Nepl o B Il NGO Nl ey

26014-060122

ALk (BET4+3% 6X12

—
o

26014-060122

AILh (BEZ+1% 6X12

| W|= ===~ |~

— 127 —




JRB3020 KEBFEA—/ILA—F
FrELT—IL 1

AES] B W 5 R <R (R fii =
1 1E6690-61470 Y (B A—% 6X16 2
2 | 1E8235-61590 4% 20X180 1
3 | 1E8540-70110 H3— (A RaF Lrv=x 1 | FLI7ahTA b
4 | 1E8545-79820 HR—% A (CONDIV—L 2
5 | 1E8645-79840 2 —)L (COND 1
6 1E8645-80020 A2V A B 1
7 1E8645-80030 XYY A  C 1
8 1E8645-80040 B IYA D 1
9 1E8645-80050 o2V A E 1
10 | 1E8645-80060 A2 I A F 1
11 | 1E8645-80070 BV A G 1
12 | 1E8785-81900 T—)L (SaFhvx 1
13 | 1E8785-81910 a5 —)LvT 1
14 | 1E8785-81920 —)L (SaFLhvin 1
15 | 1E8785-81930 aFA—)Lyin 1
16 | 1E8785-81940 =)L (SaFreHY 1
17 | 1E8785-81950 a5 A4 —)Le XY 1
18 | 1E6722-95220 ~7Y¥Z7uAvyk 30 5
19 | 22157-060000 PR (XA~ 6 1
20 | 26014060162 AL (EF94+13% 6X16 3
21 | 26014-080202 AV bh (B4 8X20 4
22 | 26052060002 Fvh (T3 6 6

— 128 —




JRB3020 KEBFEA—/ILA—F
FrEL—IL 2

AES] B W 5 I 2 il (R fid =
1

2 1E3165-68950 WA =0V VA 1 TLITLRTA b

3 1E3165-79460 vy~ N— 1 FULITARTIA B

4 1E3165-79400 H—H A 1 TLITLRTA B

5 1E3165-79420 Hx—=H% B 1 TLITLRTA B

6 1E3165-79440 HN—H C 1 | L3774k UA b
7 1E3165-68900 ¥ybEri—i L 1
9 1E3165-68920 Xy rv—nAt= L 1
10 | 1E8645-81450 =L CAB¥A K~v= 1
11 | 1E8645-81460 V—/VCABYA KNIz 1
12 | 1E8645-81470 v—NVCABYA Rv=AgH=x 1
13 | 1E8645-81480 v—NVCABYA Raafi=x 1
14 | 26014-060162 ALk (ES5+% 6X16 3
15 | 26014060162 ALk (ES5+% 6X16 5
16 | 26014-060162 ALk (ES5+% 6X16 10

— 129 —




JRB3020

I7ar 1

REFEO—ILR—F

AES] B W 5 R <R (R fii
1 1E8545-79863 =yay NO.1 KIT 1
2 | 1D4220-58150 N (ACzy hr—L 1
3 | 1E8545-79870 x=yara=vyhkr CMP 1
4 | 1E8535-79850 TNRL—F 1
5 | 1E8535-79860 X 1
6 | 1E8535-79870 VA A C VA NS 1
7 | 1E8535-79880 LURK (Ta7T) 1
8 | 1E8535-79890 =3I 2 H 1
9 1E8545-79880 arzr% CMP 1
10 | 1E8535-79950 a7 (ars ot 1
11 | 1E8535-80010 T—HF (V—=V T T7) 1
12 | 1E8535-80060 LUAK (Ta7T) 1
13 | 1E8545-79890 F—2A (U¥v R R-U) 1
14 | 1E8545-79910 A=A (Frvar U 1
15 | 1E8545-79920 R (L— 1
16 | 1E8545-79940 r—70 (ACay ha—/u 1
17 | 1E8545-79950 Yo — AN 1
18 | 1E8545-79960 TA4NHE (=T 2
19 | 1E8545-79970 A—Z% (k—% OUT A 1
20 | 1E8545-79980 A—Z (e—% IN A 1
21 | 1E8545-79991 A—% (e—% OUT B 1
22 | 1E8545-80010 A—Z (k—% IN B 1
23 | 1E8545-80020 YaAfAr bk (FLy L 1
24 | 1E8545-80030 YaAr b (FLer Y 1
25 | 1E8545-80040 raAy b (VFxFy RER—2A 1

— 130 —




JRB3020 KEBHEO—ILR—F
I73ar 1

%

U U |

AES] B W 5 R <R (R fii
26 | 1E8545-80050 JaAy b (Br7vabh—A 2
27 | 1E8545-80060 T (m7ayr 1
28 | 1E8545-80070 7720y N (ZTarrer 1
29 | 1E8545-80080 )7 (v ho—b 1
30 | 1E8545-80090 7Y (=L 2
31 | 1E8545-80110 R—=A (FLv FR 1
32 | 1E8545-80120 F—2Z2 (K> FL 1
33 | 1E8545-80141 A—2 (K> L 2
34 | 1E8545-80151 F—A (KL>y R 1
35 | 1E8545-80160 F—Z (KL> FH 1
36 | 1B8545-80170 |87 (h—ATa A+ b 1

— 131 —




JRB3020 KEBHEO—ILR—F

I7ar 2

12

8

"9

3

?%
10
14072
AHES| B E B W A W 5% fisi

1 | 1E6680-79750 | /v 7L 19 1
2 | 1E8735-80200 | =7 3> No.2KIT 1
3 | 168545-80170 | 284 F (R—=A = A > b 2
4 | 1E8545-80210 | LY —1—RI (¥ 1
5 | 168645-80220 | h—A (T4 AF ¥ — 1
6 | 1E8645-80230 | &—A (#2732 CP 1
7 | 1E8545-80241 | /SAF (#2732 = CD—R 1
8 | 1E8545-80250 | Ya A > b (L —/3— 1
9 | 18878580260 | H~—% (E—%OUT C 1
10 | 1B8785-80270 | HA—A (E—X IN C 1
11 | 1E8545-80330 | =>FL v CMP 1
12 | 1B6102-84970. | DAY h AN K 140 1

— 132 —




JRB3020 XKEBFEO—/LR—F
I7aVEUT (1)

AES] B W 5 R <R (R fii =
1 1E6690-61470 %P (EFA—% 6X16 2
2 1E8545-80350 BK (A/Cktyhkr A CMP 1 | FLI7LKRTA R
3 1E8545-80460 BK (A/Cty bk U¥ 1 | FLI7LKRUA R
4 1E8545-80470 A7— (A/C CNT CMP 1
5 1e8545-80490 BK (A/Ctvhk T wvs/~— 2
6 | 1E8545-80500 FUHEHA K CMP 1
7 | 1E8545-80540 XU hTLN— 1
8 | 1E8545-80550 vxvX CMP 1
9 | 1E8545-80580 BK (vv#% L CMP 1
10 | 1E8545-80600 BK (¥vv% R CMP 1
11 | 1E8545-80661 X7k CMP 1 | FLI7LkRUA B
12 | 1E8545-80800 75 (XU k 1 | FLI7LkRUA B
13 | 1E8545-80810 Ty (X7 N7V 1
14 | 1E8545-80940 7 (X7 h 2
15 | 198255-86920 o3y 4X16 8
16 | 198141-87540 =N 2
17 | 198141-87600 Ty (Vv H 1
18 | 198460-87620 R—=NTT7o V% 1
19 | 22137-060000 IR (I X 6 1
20 | 22137-080000 AR (IHF 8 2
21 | 22857-300061 ZoybE %Y 3X6 4
22 | 22869-400160 Xy rxy (7 4X1 8
23 | 26014060162 AL (EF94+13% 6X16 2
24 | 26014060162 AL (EF94+13% 6X16 1
25 | 26014060162 AL (EF94+13% 6X16 5

— 133 —




JRB3020 XKEBFEO—/LR—F
I7aVEUT (1)

AES] B W 5 R <R (R
26 | 26014080202 AVbh (EZ4+3% 8X20 4
27 | 26014-080202 AR (E54+3% 8X20 2
28 | 26014-080202 BILR (EF4+3% 8X20 4
29 | 26022-040122 FRaxy (R 4X12 1
30 | 26022-040122 FT_axy (R 4X12 2
31 | 26052-060002 FTvh (T3 6 1
32 | 26052-060002 Fvh (7% 6 2
33 | 26559-050162 FRaxy (+7F 5X16 2
34 | 26756-080002 NAFw K 8 1
35 | 26013060162 AR O% 6X16 2

— 134 —




JRB3020 XKEBFEO—/LR—F
I7aVEUT (2)

AES] B W 5 R <R (R fii
1 1E8385-79580 v— (COND B/ N— 1
2 | 1E8385-80270 = (a5 y R 1
3 | 1E8545-80620 Z4—5 (X7 FIN A 4
4 | 1E8545-80630 74—h (X7 1IN B 4
5 | 1E8545-80640 T4— (7 ROUT A 4
6 | 1E8545-80650 Z4—25 (¥7 FOUT B 4
7 1E8545-80821 —v (X7 b A 1
8 1E8545-80831 —v (7 b B 1
9 1E8545-80841 v— (7 b C 1
10 | 1E8545-80851 =) (7~ D 1
11 | 1E8545-80861 —) (7 E 1
12 | 1E8545-80871 —) (7~ F 1
13 | 1E8545-80881 = (7~ G 1
14 | 1E8545-80891 =) (7 H 1
15 | 1E8545-80900 = (XU K] 1
16 | 1E8545-80911 =L (7 F K 1
17 | 1E8545-80921 =)L (7 h L 1
18 | 1E8545-80930 AR yi— (L—7 1
19 | 198141-87700 T4—25h (ACHZ K 1
20 | 198141-87710 T4—5h 1 v v 1
21 | 198141-87720 Tx—h 2 v vH 1

— 135 —




JRB3020 KEBHEO—ILR—F

av Ty HET
13740-1
AES] B W 5 R <R (R fii
1 1E6070-23431 Fova N \RFa kY g 1
2 | 1E6050-30500 IR RyTFoaru— 1
3 | 1E8380-63600 NAR 2. 3X15. 8X105 1
4 | 1E8785-79850 a 7Ly 1
5 | 1E8655-79900 FTroarrT—h 112 1
6 | 1E8385-79960 VZ—U 100A 1
7 1E8545-81010 =N A a4 1
8 | DCO15 CHH# AU 27 15 2
9 | DE012 EAZ AT 12 1
10 | DV1517015 KRIA4 72 15X15 2
11 | 25122-003801 VL k RZA 38 H 1
12 | 26014-080202 AL (EF4+3% 8X20 2
13 | 26014-080202 B (EF4+3% 8X20 3
14 | 26014-080252 AL (EF4+13% 8%X25 3
15 | BZ08040 ALk 8. 8 M8X40 4
16 | NAO8 Fv b 4 232 MS8 2
17 | 1E8420-61940 INCRATA R 1

— 136 —




JRB3020 REBFEA—/LA—F
=

RHES| & ah & 5 S T T < B (EES i 1

1E8545-81053 BK (COND CMP TUITLERTA b

1E8545-81110 v—) (COND U

1E8545-81120 v—/)L (COND D

1E8545-81130 v—/ (COND S

22157-080000 PHA (F A~/ 8

26013-080162 AL (OS¢ 8X16

26013-080202 ALE (3% 8X20

DN DD DI|— | =

D[ |OC1 || WD

26014-080202 A (BEF4+3% 8X20

— 137 —



JRB3020 KEBHEO—ILR—F

ke (U—5

NN

X

AES] B W 5 il 4 il (R fid =
1 1A6260-27270 suAyh 35 1
2 172165-79800 7FFdL 150 1
3 1E8385-80300 N—2A (Fa Ak 1 TLITLKRTA B
4 1E8545-81150 N—Z (Fa Ay bk 1 FLITALRTA R
5 1E8545-81160 Tur g H (F—2A 1 FULITLRTA b
6 1E8545-81170 ET—L (Fh—RFuTFr & 1
7 1E8545-81180 T4 —5h (Brarkh—RA 2
8 1E8545-81190 ET—/L (Za7r 1
9 | 23080-013000 R"—A7Z>7 13 8
10 | 26014-060122 AR (BES5+13% 6X12 2
11 | 26014-060122 ALF (BE5+13% 6X12 4
12 | 29311-163000 JrnAvy bk 16. 0X3. 0 2
13 | 29311-252000 JmaAvy bk 25. 0X2. 0 1

— 138 —




JRB3020 KEBHEO—ILR—F

BRE (=4
AES] B W 5 I 2 il (R fid
1 1E8545-81250 — (BE—F—F—2A 1
2 1E8545-81260 R—=RA7 Vw7 22 6
3 | 29331-252000 JuaAyh 25X2 2
4 | IN3040-14010 =v7) PT3,/8—16 2
5 1F5410-22500 V7 hT—7 96X42X3 1
6 | 1E8560-66050 RyI—) 410 1
7 1E6680-79750 7o FaN 19 9
9 1E8645-81050-1 | I"—AA YT A 1
11 | 1E8545-81260 R—R7 Vw7 22 6
12 | 1E8785-81300 R—AAHT C 1
13 | 1E6213-83410 IN—RAZ Y w18 1
14 | 1E6102-84960 JA¥Y ARV EK 250 5
15 | 1E6102-84960 JA¥Y ARV EK 250 3
16 | 26014060122 ALk (BEF5+1"% 6X12 2
17 | 1E7262-97890 Ty w—r (Vnm 4
18 | 26014-060162 ALk (ES5+1% 6X16 2
19 | 26014-060252 ALk (ES5+1% 6X25 1
20 | 26014-060302 ALk (ES5+2"% 6X30 1
21 | 26019080162 AL R (A< A—s% 8X 16 1

— 139 —




JRB3020 KE/BHEO—ILR—F
B ISV NST

IOV

GS360GCE

AES] B W 5 I < (R fidi
1 1E6681-05050 ~ IR F w7V L— 1
2 198461-52950 CAUVL— (CHAT 1
3 | 119650-77910 Jua—1 L— 1
4 1E8770-81320 T2 A vF (R 1
5 | 1E8450-81360 —YVZAAvF 3P—AG 1
6 1E6910-82500 Jl— CA-1A (zU¥%a7) 1
7 1E6910-82500 Jl— CA-1A (zU¥%a7) 1
8 1E6910-82500 JlL— CA-1A (zU¥%a/Z) 1
9 1E6910-82500 JlL— CA-1A (=U¥%a”Z) 1
10 | 1E6910-82500 Jl— CA-1A (=U¥%a7Z) 1
11 | 1E8450-84321 FUT ) e 1
12 | 1E9040-84850 ENGF vV A% 1
13 | WRCAO6 PR (a<wi 6 2
14 | Wso6 NREPFHx 237 M6 2
15 | 26014-060122 Bl (EF4+3% 6X12 2
16 | 26014-060122 ALl (EF4+3% 6X12 2
17 | 26014-060122 AL (EF94+13% 6X16 2
18 | 26022-050122 F_Raxy (R 5X12 2
19 | 26367-060002 YRV XSy k6 2
20 | 26367-060002 YRV XSy k6 1
21 | NAOG Fv b 4 232 M6 2
22 | 1F8828-84850-1 | NA v a2V TV TA KX 1
23 | 26014060162 AL (EF94+13% 6X16 1
24 | 1E8080-81391 arexr—yarso7 (F 1
25 | 1E6650-82400 779 Y ASY 1
26 | 26014060122 Bl (EF4+3% 6X12 1

— 140 —




JRB3020 KEBHEO—ILR—F

AT B
AES] B W 5 H 4 FF (R fidi
1 1W3852-00940 ZA4vF ASS’ Y 1
2 1E8720-61420-1 | AA v F 77/~ b 1
3 | 1E8665-81200 AB—F (T AL vF CMP 1
4 | 198360-52160 F—COMP (AT 1
5 | 198360-52330 T Ude— 1
6 | 1E8665-81420 N 1
9 1E8665-81300 TH—=TA A, vF 1
10 | 1E8665-81300 TP —T A AL v F 1
11 | 1E8770-81320 T2 A vF (R 1
12 | 1E6710-81020 LR—ZA v FNO 1
13 | 1E8790-86120 Ry AL FH 1
14 | 26023-050162 FRaxy (B7+1%r 5X16 2
15 | 1E8720-88101 a7 1L A—B CMP 1
16 | 1E8540-64050 TAT—Y (Ly R 1
18 | 1E8540-81160 IhFy v A 1
19 | 1E8730-88121 N IVAA F 1
20 | 1E8720-89250 —)L AWAB ] 1
21 | 26014060162 AL (EF94+13% 6X16 2
22 | 26014060162 AL (EF94+13% 6X16 1
24 | 26022-050122 F_Raxy (R 5X12 2
25 | BZ06020 ALk 8.8 M6X20 1

— 141 —




JRB3020 KEBHEO—ILR—F

AAYF . Z8
RHES| 5 oL’ il i 4 B &% it
27 | CP03012 +F_Raxy M3X12 1
28 | 26757060002 hAF>v b 6 1
29 | 1E9040-82350 L ER— g A—H 1
30 | 1E8665-05530 SV 1. TW 4
31 | 1E8380-81650 ESVAIERyE S 1
32 | 26022-050122 FRaxy (N 5X12 5

— 142 —




JRB3020 AEBER—/ILA—F
INYTY)
13755-1
RHES| 5 oL’ il i 4 B &% it =
1 146200-13060 FHR TX26X3. 2 2
2 198010-51500 Ny7FIJ— 95D31R 1
3 1E8450-83060 Ny T BT N— 1
4 1E8720-83090 Jo—bt a— A —A— 3 1
5 1E8645-83100 Ta—bka— A —A—1 1
6 1E8540-83150 Ny T YT FGAK 1
7 1E8560-83220 NyTFJ—lr—7) (— 1
8 1E8680-83570 NyTJ— AR B 2
9 1E8560-83900 T—AELY 13X200 1
10 | 1E8560-84050 Ny T —hr—T ) (+ 1
14 | 1E9040-84940 Ny T U JR— 1
15 | 1E9040-84950 Ny T JAHx CMP 1 FLITARTIA b
17 | 26014-080162 ALk (EF54+13% 8X16 1
18 | 26014-100162 ALk (E54+2% 10X16 1
20 | 26367-060002 YARYXxF oy k6 4
26 | 1E8511-85940 t 22— MUY 1

— 143 —




JRB3020 KEBFEA—/ILA—F
i

AES] B W 5 R <R (R fidi
1 1E6690-81600 R—ASY 1
2 1E6691-81620 TARTTH— A 1
3 | 26014-060122 BILR (ET4+3% 6X12 2
4 | 26014-080162 ALE (EF4+13% 8X16 1
5 1E6820-81300 Ny 7T — 1
6 | WRAOS LI HFR M5 1
7 | 26023-050252 FRaxy (EZ7+13% 5X25 1
8 | NAO5S Fv bk 4 232 M5 1

— 144 —




JRB3020 KEBHEO—ILR—F
JAXIN—FRR

11

™

1 |
1'2\‘1[2,_L 13

T
13

AEER
1(28%29)
(30X31X32)

AES] B W 5 R <R (R fid
1 1E4820-61150 NUR 38350 2
2 | 1E6681-83090 s7Vy7 COT—35 1
3 | 1E6102-83230 Ny T ) ir—T )N Z 7 1
4 | 1E8720-83300 aryrfa=vk 1
5 1E8230-84070 AL — B =R A 1
6 1E3160-84090 ATT VT 3T hoNv—FA 1
7 | 1E3165-84150 AT T —%Z CAB 1
8 1E8235-84910 HAA—=FK 090 (3A 2
9 | 1E6820-84200 N—F A H 1
10 | 1E6820-84200 IN— A H 1
11 1E3165-84351 IN)LT IN— R A 1
12 | 1E8540-84900 HAA—FK 1. 5AX2 2
13 | 1E8235-84910 ZAF+—F 090 (3A 2
14 | 1E9045-84310 TV N—FA CAB 1
15 | 1E8450-84900 XA A —K 1. 5AX2 1
16 | 1E8235-84910 A+ —F 090 (3A 1
17 | 1E3165-84610 Rr¥ —3A (CAB 1
18 | 1E8250-84010 U7k a2—ZX 30A 3
19 | 1E8230-84040 U7k a2—X 15A 7
20 | 1E6680-84510 JF /bt a2—A B5A 7
21 | 1E6680-84520 U7k =2—ZX 10A 4
22 | 1E6680-84530 U7k =2—X 20A 2
23 | 1E8450-84900 XA A —K 1. 5AX2 1
24 | 1E8540-84900 XA A —K 1. 5AX2 2
25 | 1E8235-84910 LA —F 090 (3A 8

— 145 —




JRB3020 KEBHEO—ILR—F
JAXIN—FRR

ARAEER

1(28)29)
(30X31X32)

AES] B W 5 R <R (R fii
27 | 1E9045-84900 TV NI AR 1
28 | 1E6102-84960 JAY FANRCEKE 250 1
29 | 1E6102-84960 JAY R ANRCEKE 250 1
30 | 1E6102-84970 JA Y AR 140 3
31 | 1E6102-84970 JAY hANRVEK 140 1
32 | 1E6102-84970 ALY ALK 140 2
33 | PC020020 JUEY 2X20 2
34 | 26014-060122 ALl (EF+23% 6X12 2
35 | 26014-060162 AR (eF74+3% 6X16 3
36 | 26014-080202 ALk (BT7+3% 8X20 3

— 146 —




JRB3020 KEBHEO—ILR—F

JK Il
AES] B W 5 H 4 FF (R fii
1 1C7080-07050 TFATx Y 1
2 1E8730-73801-1 | "7 v ¥ a ¥ 2
3 | 1E8055-81250 |34y hT 7 ()= 1
4 | 1E6480-82280 | L7 12V /3. 4W 1
5 1E6650-81270 arvba—7 NV 1
6 | 1E8775-81400 JBALN—ZA T 1
7 | 1E6820-81700 =TT 7= 2
8 | 1E8540-82050 ARY 2—h 1
9 | 1E8540-82060 V<3 16 1
10 | 1E8540-82120 FUDTAA vF—3S 1
11 | 1E8540-84930 HAF—RKaz=vF C 1
12 | 1E8820-89001 2> bhe—7  (UFO 1
13 | 1E8820-89101-1 | B H N Y& A 1
14 | 1E8720-89150 B KoY L 2
15 | 26014-060162 AL (EF94+13% 6X16 2
16 | 26014-080162 AL (EF4+13% 8X16 3
17 | 26014-080202 AL (EF4+3% 8X20 4
18 | 26023-040162 FRaRxy (B7+11% 4X16 4
19 | 26014-060302 AL (BEZ4+3% 6X30 2
20 | 26367-060002 YRV XSy k6 2
21 | 26367-060002 YRV XSy k6 1
22 | 1E8820-89100 NSNS o 1

— 147 —










# % | S-170914E

IMLE R PR

A LR AR

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

484-0894

700-0973

861-8030

885-1202

TEWMEEH 1O 1 F H 2
TELO123-26-1123
FAXD123-26-2412
TEmWmEEHR LI O 61 FH 2
TELO123-22-5131
FAX0123-26-2035
KEHMEBEMTF LSO NY1191F 44
TELO162-82-1932
FAX0O162-82-16286

WL 22541 TH12 HH4
TELO155-37-3080
FAXQ155-37-5187
ZEM P EENELT 2 TH16 #F 2
TELO153-72-2624
FAXQ0153-73-2540
EFRAET R BRI 112 1205 3
TELO198-46-1311
FAX0198-45-5999
BEHEAATEREXPEEME179-1
TELO22-388-8673
FAXQ22~-388-8735bH

BN W 2512 -1
TEL0285-49-1500
FAXQ0285-49-1560
EHMERXIIHTNEFAERELS F 1
TELO568-69-1200
FAX0568-69-1210

MU EMIIT X THFEH704-103
TEL0O86-243-1147
FAX086-243-1269
REARERARFTRXAILT1I639-1
TEL096-389-6650
FAX(096-389-6710
BRSBTS EmE 1003 -2

TELOS86-53-2222
FAX0986-53-2233

T

M. 29.

09.

35



